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3)
SECTION -1
qug - |
CHILD DEVELOPMENT AND PEDAGOGY
e e g femmeme

There are 30 questions in all in this section.
All questions are compulsory.
30 @Ug H A 30 TH £ |
T4l oA SEE € |

Dyslexia is :

(A) Difficulty in reading skills (B) Difticulty in understanding maths
(C) Difficulty in writing spellings (D) Difficulty in competing
fewetfawa gd 2 -

(A) 7@ i (B) v wHg H HiATS
(C) ot forad 3 wigars (D) fereret & i
Formula of 1Q is :
MA CA EHE
(&) Ty x 100 (B) ~xx 100 Ly
CA x 100 MA
© “n (D) Jp x 100
gig afey e F1 g 2 -
MA CA
(A) T x 100 (B) ~px * 100
CA x 100 MA
(©) T MA (D) ﬁxl()(]

Assimilation is :

(A) Current schema to interpret the external world

(B) Process of changing to better

(C) Adapting to internal world

(D) None of these

HATHTHL & :

(A) TAWH THIT T TATT SR S o (9o % forw

(B) S H Sge hi HisaT

(C)  MIHeh G 6 SFFe &1

(D) T & %75 oft 72

The three pillars of education are . and :
(A) Teacher, Student, Curriculum (B) Principle, Teaching, Aim
(C) Education, Metho_dology. Teacher (D) Importance, Teacher, Objectivity
frem % o7 g amum : w |

(A) e, B0, wggse (B) fogm, fer, sEma
(C) fuem, frmfirfy, fuars (D) wew, feres, e
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A series of pictures i1s shown to the subject and he is asked to make a story, 1s used in
projective technique.
(A) TAT (B) Role Play
(C) Rorschach (D) Dramatic Production
=faa &1 foml #i 1 o foms It 2 3R 3 T FEE F9H & o FE I 2, T8
e} deh-fieh H S fohaT ST 2 |

(A) SHYUTHH T T (B) fir frafz

i
(C) Tk (D) AeH T Eﬁz

Which among the following 1s not a subjective method to assess personality ?

(A) Individual history (B) Interview technique

(C) Inventory technique (D) Rating Scale

freforfiaa o @ =i ot sfaae =1 smse w0 % ot o sfama fafu i 2 2
(A) =fFT Tz (B) HIATHR oheiieh

(C)  TEGEH! BT (D) foerfeor wmfy

Which among the following doesn’t fall under the classification of mental retardation ?
(A) Mild retardation (B) Moderate retardation

(C) Severe retardation (D) Acute retardation

freferfiaa @ i a1 aafhes wedr & @i & said T2 o 2 ¢

(A) Toohl HedT (B) T Hedl

(C) R e (D) s wEan
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10.

11.

12,

(3

According to Right to Education Act, 2009, no school to be established without obtaining
certificate of :

(A) Appreciation (B) Recognition

(C) Terms and Condition (D) Authorization

RTE tafam, 2009 & sgew, Frefofaa fea ymor-m % fam =1 foamem wnfig T2
fopen s 7

(A) S (B) W=l

(C) frm e wd (D) IR

Any relatively permanent change in behaviour or behavioural potential produced by
experience 1s called :

(A) Learning (B) Thinking

(C) Cognition (D) Motivation

IV G 30T SR A1 FFER Fwal # et ot aamRd el wada w1 FE ST

2|

(A) i (B) femmm
(C (D) SR or)
) I ) iy
Which among the following is involved in learning process ?
(A) Physiological (B) Psychological
(C) Environmental (D) All of the above
fFrferfiaa 4 @ died i uforan & wiffrer 2 -
(A) i (B) HHATSTIE
(C) TTeRwft (D) IR Fft
The is the immediate environment in which the individual lives.
(A) Microsystem (B) Mesosystem
(C) Exosystem (D) Chronosystem
a1 ferean ardre & ford safa war 2 |
(A) H& yuIeht (B) wefiren
(C) veal faen (D) hicThH
proposed the theory of multiple intelligence.
(A) Howard Gardner (B) Freud
(C) Binet (D) Thurstone
A w-gfg w1 fage vedifea R d
(A) BIEE MER (B) WS
(C) fad (D) oA
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13.

14,

16.

17.

(6) PL-2
Which out of the following is not a biological determinant of personality ?
(A) Nervous system (B) Ductless glands
(C) Somatic structure (D) Situational structure
freaferfiaa o @ w7 safeara =1 o frafes 2 7
(A) bR (B) anfetdia ufyat
(C) efee s (D) feafes= gt
Which of the following 1s not a general law of heredity ?
(A) Progression (B) Vanation
(C) Regression (D) like begets like
frferfiga o @ =i ety & g Frm adi g 7
(A) wifd (B) =R
(C) ST (D) S Teraae

As per Right to Education Act, 2009, Elementary Education means :
(A) Education from first to eighth class (B) Education before first class
(C) Education from 8th to 12thclass (D) Education in middle school

RTE arfirfaam, 2009 % argar i fren s ad 2 -

(A) B HaT B el Her aeh ) e

(B) wuu 3uft @ ugel <l e )
(C) 3Tadt & aEd] Ha as i fen ES&S
(D) ATt fvem

In the field of mechanism of heredity, modem studies have been done principally in which
direction ?

(A) Cytology (B) Biometry

(C) Experimental breeding of animal (D) All of the above

AT 79 % 31 % & o, Tl iy fopw T oY ot s E 2

(A) ifyremifas (B)y Shafufa

(C) eI 1 IR T (D) IR woft

RTE Act, 2009 directs  working hours per week for teachers.

(A) 40 hrs. (B) 45 hrs.

(C) 42 hrs. (D) 48 hrs.

RTE aifafiem, 2000 B! & ol ot gwams fres 92 sma@ 1w dan g ¢
(A) 4097 (B) 459%

(C) 427%m¢ (D) 48w

https.//www.pygonline.com


https://www.pyqonline.com/

PL-2

18.

19.

20.

21.

22,

M

In giving instructions to the mentally retardeds the teacher must keep in mind that they :
(A) are able to pass examination

(B) learn more vocational skills

(C) work hard to compete with normal children

(D) spend time in competitive games continuously

el ! arfee: &1 9 faféed Rl 1 Mo d 999 98 W= W1 91ied 6 o

(A) e Il s d gem |

(B) 3fires xTawias vt Hi |

(C) UWFI =1 % H1% fereret sid & fofd el Tiem ot |

(D) @MaR Sfaerd well § g9 faqr |

Learning through Reward and Punishment is :

(A) Observational learning (B) Social learning

(C) Operant conditioning (D) Classical conditioning

uTfaifye qen 2ue & wiem d e 2

(A) YeroreRsh sfemy (B) @mfaeh arferm

(C) Foramd sgaeA (D) SmE SEeA =
a

Which of the following is not a step in conducting scientific research ?

(A) Conceptualizing a problem (B) Revising research conclusion

(C) Collecting data (D) Dynamic approach

T IgEy F # fem A frffaa d s oo weam Al 2 7

(A) T HHE I FEUROT (B) TN gy fsed

(ORI EEIEVRETERE (D) Tifcrsfier Zioamror

of the test refers to the consistency of scores obtained by an individual on the
same test on different occasion.

(A) Reliability (B) Validity

(C) Objectivity (D) None of these

lieor i 1 Te¥ @ = et | s € adyo w e safe grn ara et Bt
Tz |

(A) fovaaaa (B) au

(C) =g (D) &7 &

Right to Children for free and Compulsory Education falls under Act :

(A) 2009 (B) 2012
(C) 2005 (D) 2010
w1 G A rfars fven w1 siftrepn for arffvam o st s @ 2
(A) 2009 (B) 2012
(C) 2005 (D) 2010
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24.

25,

26.
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In the identification of the gifted, we must give priority to :

(A) the parents’ opinion (B) result of objective test
(C) teachers’ opinion (D) the community viewpoint
yferraneft 1 vgwm § g6 wufherdr oft =nfed

(A) =T for <61 (B) arefim v st ol

(©) T T (D) AT 3w

According to Freud, the primary structural elements of personality are :
(A) Conscious, Subconscious, Unconscious

(B) 1d, Ego, Super-cgo

(C) Pleasure principles

(D) Defence mechanism

WIS o AR, S o Tfieh FTaTeas 7 & :
(A) M, eI, e (B) %gH, 3T8H, TUEY, wm
(C) 3THe & fagra (D) T&ITeHa St LT

Tendency of body to maintain a steady state is

(A) Homeostatic (B) Balance
(C) Fostering (D) Drive
fRR araen T v & ford sl A gl e s B -
(A) wmfefd (B) W
(C) W (D) s

Sita works at a day care center. The pay is low and hours are long. But she loves being
around children & has no desire to look for a higher-paying job. Sita’s motivation appears
tobe:

(A) Intrinsic (B) Extrinsic

(C) Selfish (D) External

AT U ¢ A T H HIW ! 8 | e HH & I HH & He 6 8, olfeh 98 sl o IR
T TOE AT 2 3R I I arel AR S e O ) B1E 3e0r T2 W@l @ | Hian #
St o Srep 1 eTedt @ 7

(A) TR (B) wT&d
(C) @l (D) =&l
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27.

28.

29.

30.

9

Mental activity that goes on in the brain when a person is processing information is called :
(A) Learning (B) Mental imagery

(C) Thinking (D) Concept

9 His Al GEAST S GO F @ A @ dt Afedwh ¥ god gt aEfiie afafafy
FHEAA 2 ¢

(A) 3frm (B) HHHF FHeT

(C) femmm (D) EReH

Which of the following has not been shown to help maintain a healthy level of cognitive
functioning ?

(A) Participating in games (B) Working crossword puzzles

(C) Sedentary lifestyle (D) Reading

frefoafaa @ 8 ®F @ s F ugfd % Wy W H TR WA § 1eg HH 6 ol
37T TR 7

(A) el H 9T o (B) Id-aE Tael T HTH FHT

(C) Rl St gt (D) & HH Eﬁ

“Life presents a continuous chain of struggle for existence and survivals.” is said by

(A) Darwin (B) Shaffer

(C) Jershd (D) Spencer

‘S, Sfeae = dod SR ITefaar 1 U wad @l Teqd Fa 2 |’ 3 fme g s
27

(A) =i (B) IR

(C) &g (D) T

Which among the following is not a major period of cognitive development given by
Piaget ?

(A) Sensorymotor stage (B) The pre-operational stage

(C) Cyclic stage (D) Formal operations

frams gro fou o v fawm % firga 8 frafafas @ @ =19 @ foem =1 1@ Fre’
L

(A) Fadre feufa (B) TE-ufswamene fefa

(C) =shM =0 (D) II=TTE Yo
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[0 LCUCE ||
B I — |
|G
FEEYHA0THE |
aft uw srfard 2 |
31, ORI e o 3Ttk dedi 8 § fy= a § -
(A) e (B) dreft
(C) faw grft (D) F=m ef
32, gord a Tt < A faflgn | e 1 SR R -
(A) FElaHedE FH (B) TR FH
(C) Fsyreas yw (D) eifehd S
33, Treforiad sregt & wod v st Jrea forswe aer o @ -
(A) Tervaaa (B)
(C)  Frfceamaehal (D) SRR

34, Haq Ve ST AT YUTTet! 3Udd 2 T U2 e a4t &t dehelt & 9
(A) T T2 W B, SATfth qoatend o aTfies Titedl 3 SIeih Sie - 31er g |
(B) Tershi, ol T8 SATHTEhI ) GHT-H9g | F=0 4 & |
(C) BE T IR el =1 a7 & fed 1gd & |
(D) Terss 9 o A1 whenal # sre @ Fored 7= 3% 7T 3 |

forferad e T Jeet T8 MU e & IR fAfaT : (I EL 35 44)

& g % 3R 984 el § gl Tgd =l 317 U et g el <61 s @ A |l
g 6 T ] | T 3 A e o, Yow, s o R o feer v | G eh
JETEt <l BT & S9N, ICATE I T st 57 o s & ey gt fomrg weft, sae
Hired T IVE T 1 HUT | TH H1 R G591 g U &t 2 | 98 qifcres o 2 amg am 721 |

TUE T 1 Bl Th TauH 2 | TS0 Toehig & 37 AArehehlT U0 & | &7 T 98T o
The fir fe@ts 7=, 98T 39 U9 1 e $© faviy 9l 1 R wHe ARy | U@ S
TSThIT % HEwd 3T OfeseT 1 3Rt T2 2 Than | 39! TUH SHa1 3H o stravas 72 vn
Tehell |

35. U TR HT@EL -
(A) i (B) fifvea
(C) w& (D) &Y
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36, ‘IAEH T H G F YRR -

(A) TorEfy B) g at

(€) oy (D) @ afy
37. I I W G 2 -

(A) fergmm (B) %5 w9

W2

(C) dces gHTd (D) HEYRE TUE Tfkﬁi
38, feferfigd oredi § W= g wee 2 —

(A) 38b (B) o

(©) CIEEGH (D) Him
39, fraforfed vl # e v 2 -

(A) 9 (B) I

(C) Tifeas (D) B

40. S QT 3R 954 I ° NST T Tl 377 5 Fohet TR AT 1 &7 A1 81 Al b
T ET 2 T i v 3 Faser o SR # -
(A) TrETeR fagror (B) Tifgea slewmmemas: fagmm
(C) fafyad wfmmrares fasmyor (D) Hehaaras fagw

41. “PFrf¥rear vee 3y FTUER R -

(A) AT Fd T (B) VST Fd TAd
(C) sTEaT® afga T (D) FramaT=s Fa o=
42, o e e gea yeel & | — are % o v weg 2
(A) wifcas (B) wfeaehl
(C) Tl (D) @A
43, F wee I fadm we 2 -
(A) 9 (B) M
(C) HH (D) W
44, 3T I AT VI
(A) 38 (B) 3ITER
(C) ey (D) g
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46.

47,

48.

49.

50.

51.

(12) PL-2
Frerfarfaa e =1 uget 18 ¢ T 6 IR AR« (3 9 45-50 9F)
A 3R 9 e 3Rk 1 faur oo geg ¥ stfueada 3R s et il 6l g
FA 2 | A HIE $6h T T AN 2 A A2 IAH! g T, HS T 3R 3 § T A1 2 |
gl 72 foret i T 2 | Afe Rt I v 2 oft A g 38 T R e it e
it F-{ 7; T SHR! 39 <l 2, B TER! SR 2, WM FHRT [0 IR G F
M 2 | T3 B T, TeH1, Raet1-Term 1, 39 s=ii 61 37 Sw31 1 aE da1 HEI,
G AR & A= 30 @Y Td TR ¢ 37 WA & F7 3 2 1, I 3R 31 541 319
foparrt o 2 S 2, 3= fre o 7 | R A 1 i e ] - it v firet e e
Tet ToharTTi AT $7aR 319 GR <igR W1 g 3T B | 9 | ol Al A A g 3R I o -
BT I ol W 0Ll € | A T o S Ay 7 |
faean 3ok gea § arfari iR sreya smenfayes e i gfy w2 1 frafafes a8
Eiferd 7 & i a1ed w@d e I 2 -

(A) TRHTHT W T TG 91T | (B) 3o gt 9 |

(C) SATCHI-TRHTCHT § Y 7@ 1M1 | (D) Gaqol Syt |
frerferRan wregt o srgerer ez 2 -

(A) 93 (B) ¥ ?mﬁ
(C) T (D) T =
e TR F R g ram R FEAFE v

(A) 3t o (B) T Hiqwad %1

(C) T YT (D) Fd4HH HA

feTRad e 1 fire forg 71 SqE 2

(A) &Y (B) wHfd

(C) ®zH (D) SEHE

WA R 9E: fo 3R T feremar goeh gea o s 3 seyd sneniches e 1 i
A1 B | T § W@iihd veg &1 farrdia forg g

(A) faurh (B) faum

() faurh (D) faum

3 T % TaH | & | a7 i [0 gl § aEer T T g

(A) 3 Sl o SaH FY 3 | (B) ¥ o[ o A |1y & |

(C) 3 &l o M |1y 7 T | (D) 3 9T Shid & M 1Y @ E |
frafefiaa amae o faureras @ € -

(A) WH A HEed 2 | (B) FMFEIAEE |

(C) 31T ITTHT KT AT U | (D) 3R | ¥E 4T BT !
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52

53.

.

S5,

56.

57.

58.

39.

60.

(13)

TEAT o YR R IR 5 | i A -

(A) & A (B) T am
(C) Ty s (D) T T
“TT -4 AT3 3T Y i e i dTell e 2 -

(A) & EM (B) i 7Rt T
(C) R heheht AT &l (D) =T FIeAT

3@ 1 A4, TS 1 [ AR F 7Y -

(A) TH-ggeR faufa 91d o | (B) Tofa: s T |

(C) U9 IWHT & FTEA | (D) dfgd fheg wor |

TR ATt % feror <1 wrh faft 8 @ fim fafu 2 -

(A) raT Fw farfer (B) arucge fafy

(C) wa fafy (D) T -k JTTet! ’Eﬂﬁ
O]

fereqm 37T # 1Y TS WA Tor 1 AEE ATEH @ -

(A) Heu foram (B) M foeqm

(C) TS ST (D) fere frem

T8 T A AHTE, [ o i & g1 2, oo, fam, ae wfFat sedt 8 it angd faee
T TR ¢ | 919 T % HH Fe & [0 FET 8 7

(A) a5 Tl & fore (B) e et F foru

(OMEREISER T (D) 997d T & foIT

et vaa, fava et wowww g, fafay sfeifaned & e, e, e, a
FTIHA AT, T o 83 T 3T S HLAT Fealte Mrraiert Javr sivret foem o frm wR
% qTeThi % feru 3 7

(A) W9 TR (B) 3= WIYieh &R
(C) e foremr & (D) waTfeaTerd o &
=1 % foIe T HieH 1 garad THa BT 8 -

(A) 6% 9ad g o (B) 128 15 9% g o
(C) 18821 ¥ g (D) 21 % 2499 3/

Tl o ° qe1 Al <1 HEEn Al BHr =N | fohd W % sl % o aed a9
A & ?

(A) from=R ™ (B) IENEFHA R

() Bywm= (D) Hig TR
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SECTION -1
LANGUAGE -1
m;m ENGLISH
=

There are 30 questions in all in this Section.
All questions are compulsory.

31.  Which of these is not a technique of evaluation ?
(A) Appropriateness (B) Effectiveness
(C) Imitation (D) Practicability

32.  Check-list technique is used for evaluation :
(A) results, attendance, participation in games, sports.
(B) interest, attitudes and values of the students.
(C) of significant event and work performance of the students.
(D) None

33. Which one of these commissions and committees has not made recommendation to
encourage internal assessment through continuous and comprehensive evaluation ?
(A) Hartog Committee (B) Hunter Commission
(C) Mudaliar Commission (D) None

34,  Which one of these is not objective of CCE ?
(A) To make the process of teaching and learning a teacher - centred activity.
(B) To make the process of teaching and learning a learner — centred activity.
(C) To help develop cognitive, psychomotor and effective skills.
(D) To make evaluation an integral part of teaching — learning process.

Read the passage and answer the Question Nos. 35 to 39 :

India today presents a very mixed picture of hope and anguish of remarkable advances
and at the same time of inertia; of a new spirit and also the dead hand of the past and of
privileges; of an overall and growing unity and many disruptive tendencies. Withal there 1s
a great vitality and ferment in people’s minds and activities,

It is remarkable thing that a country and people rooted in this remote past, who have shown
so much resistance to change in the past; should now be marching forward rapidly and with
resolute steps.

35. Choose the synonym for the word “vitality” :
(A) lethargy (B) torpidity
(C) energy (D) externality
36. Choose the antonym for the word *anguish’ :
(A) ecstacy (B) agony
(C) excruciation (D) affliction

37.  Choose the correctly spelt word :

(A) Fermantation (B) Presantation

(C) Picturesque (D) Resoluation
38. ‘Adverb’ for the word “disruptive’ will be

(A) disrupt (B) disruptively

(C) disruption (D) disrupter
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Choose one word for ‘a tendency to do nothing or to remain unchanged” :
(A) anguish (B) disruptive
(C) ferment (D) inertia

Read the passage and answer the Question Nos. 40 to 44 :

The rich can provide their children with all that money can buy : rich food; expensive
clothes, cars and every other imaginable comfort and luxury. But they simply cannot give
them what they need most — parental care and affection on a personal level for which there
1s no substitute in the whole world. These children who are brought up almost entirely by
hired attendants develop a twisted personality. Their rich, busy and well-bred parents are
one day shocked to find that their children have developed some of the traits of their own
attendants which are, to say the least, considerable less than well-bred.

......... and every other imaginable comfort and luxury. Here ‘imaginable’ is :

(A) anoun (B) aconjunction

(C) anadjective (D) an adverb

Choose compound adjective from the phrase ‘well-bred parents’.

(A) well-parents (B) well-bred

(C) well (D) bred 0]
L

Which one of these phrase has a determiner in it ?

(A) But they simply cannot give.

(B) The rich can provide their children all they need.
(C) There is no substitute.

(D) Hired attendants develop twisted personality.

‘These children who are brought up almost entirely by hired attendants develop a twisted
personality.”

Which tense is used in the above sentence ?

(A) Present perfect (B) Present continuous

(C) Present indefinite (D) Past indefimite

Which of the following has the three degrees of the adjective in their correct form ?
(A) Simple, more simple, most simple (B)  Rich, more rich, most rich
(C) Little, less, least (D) Expensive, expensiver, expensivest

Choose the correct interrogative sentence .
(A) Had been it raining for long ? (B) What been it had raining for long ?
(C) How had been it raining for long ? (D) Had it been raining for long ?

Choose the correct option to fill the blank in the sentence given below :

Admittance to him by the guard.
(A) were refused (B) was refused
(C) are refused (D) will be refuse

‘So help me, Heaven !” he cried, ‘I will never steal again.’

Choose the correct indirect speech of the above sentence :

(A) He called upon Heaven that I would never steal again,

(B) He called upon Heaven to witness his resolve never to steal again,
(C) He called upon Heaven to never steal again.

(D) He called upon Heaven to witness his resolve not to never steal again.

Choose the “Affricate’ sounds :

(A) |tf, & (B) |m,n|
©) [fv] (D) 16,0
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Phonetic symbol / transcription for the word ‘Guttation” is :
(A) [gatafo)n| (B) | ga'terf(o)n
(C) | ga'ttes(o)n | (D) | ga'ttars(2)n

The fundamental order of listening, speaking, reading and writing should be followed:; it is
the general characteristic of :

(A) Principles of selection (B) Principles of gradation
(C) Principles of habit formation (D) Follow the natural way
‘Leading from simple to complex” is used in the principles of :
(A) Gradation (B) Habit formation
(C) Controlled vocabulary (D) Follow the natural way

Which one of these 1s a principle of “Translation cum Grammar® method ?

(A) To teach English directly.

(B) To establish bond or a link between thought, expression, experience and language.
(C) The umt of teaching is a word not the sentences.

(D) The sentence is the unit of teaching in this method.

Which method 1s a midway between the two old methods; (Translation cum Grammar
method and the Direct method) ?

(A) Inductive — Deductive method ~ (B)  Bilingual method

(C) Dr. Michael West’s new method (D) Audio Lingual method

Which one of these s related to the ‘Inductive — Deductive method” of teaching English ?
(A) Itis aslow procedure.
(B) This method discourages the students to be mentally active.

(C) Priority of reading. Em
(D) The sentence is the unit of teaching in this method. Fﬂﬁi
Which skill is the basis of good learning of the language ?

(A) Speaking skill (B) Explaining skill

(C) Reinforcement skill (D) Listening skill

Choose the correct option which is not a technique for speaking skills :

(A) Reproduction (B) Question — Answers

(C) Role play (D) Model Reading

According to Thompson and Wyatt, how many objectives are of teaching rapid reading ?
(A) Three (B) Four

(C) Five (D) Six

Who was of the opinion that reading ability can be developed by reading books in solitude
with ease, interest and pleasure ?

(A) Menon and Palet (B) Robert Lado

(C) Rajgopalan (D) West

Oral reading 1s also known as :

(A) Intensive reading (B) Silent reading

(C) Loud reading (D) Library reading

Checklist, Rating scale, Interview schedule and Anecdotal records are tools for :
(A) Summative Assessment (B) Informative Assessment

(C) Annual Assessment (D) Formative Assessment
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. AT YGRS T W 31 -
(A) feoft afae & (B) GO & T FAE
(C) T fora] (D) T < A ST 7 F08
. 3T arer st srfaforr aRfy g @ wery S weR ol e -
(A) @mgsilis i wrgy] (B) =TT H T
(C) W3R ey (D) =R T T
el ST afed ATER @ 2 @] gl -
(A) TR S SRR (B) IR ft &=tz o
(C) =t Tife st (D) TR S W )
TR @ TGV @ g FIeT ot ST o8 Sred 3712
(A) A3 9f3 F=1] (B) @Ewm H]
(C) =T sfewrsy] (D) oy versY
Forrg o fearfy g @ frssh 9sm 5 g s g -
(A) 9 EINAR 3R (B) % TeE AR
(C) FH & Wi AR (D) T TG e
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“HEIE HyTs WeAPH3 3 fitfem Qaranyt €3 Ha féer 9 | feg frame fefmr o wastae ot &
e, /dl 39, yfeadt, Aues @998 € »ean, agd 3 fenadtars 2 AHTfid wiggse yfeadt
T dnias qoeTJ 1" - feg s fan feees &7 d

(A) IS5 (B) aw

(C) TERHS (D) WoEd

N EAC R I COEIRIC IR L E R

(A) HEBIEw3H Ger Jerd | (B) wgasffarasd |
(C) yB'ae foa famard | (D) HBE BB I |

&, W8, Uat, AT -raE 3 yEs Hed3r U Fhfifinr @ fqg3 #ia a3 Adfus 95
(A) »IgEY (B) afezrus
(C) 7 (D) H&tqy

fei-ang, tesrvnue 3 W 2w 3 st § T 299 g AR I
(A) 3(f35) (B) 4(3)
(C) 5(dm) (D) 6(8)

(35-40) Jo f3d g SUF A AE5 dud 353 40 Fa T P39 e :

i It Eaes Wi wyE Rt & aeg wie ft Faft 9 1 vl nrufsasT T foHt fog i

Y&™ 'F g g4t J | fog wiare WEdt e w3 9939 v Wi a9 99 36 | fodt ards T fa niv Ja-
I88 & gHTE 578 gaH Ft avmelt § Iaefta oSt wiEt O | arenf3 e Um fomam Fer e © Hasy
feg’ aas ggd ferd fammJ | Quag S gea ve & d P et J |

35.

36.

(A) ot (B) feoft
(C) widradt (D) et
»II3T Sar d g g I ;

(A) wiIE (B) &M
(C) #W& (D) g
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‘I8S T et aee J
(A) e (B) I4
(C) TIH (D) daer

2B dt feg" 23 9 31 9986 T8 Bet eI e HEC J -

(A) THassd (B) fagdt
(C) HIUTH (D) fegaH
‘QUad’ HYE T HHTSTIES HEE J ;
(A) Ty (B) fH=3
(C) Gugzr (D) fiaaerat
OF0)
firzze S & ufow mee 3 ; LT
(A) fags (B) fag3
(C) =wEt (D) fags

(41-44) Jo 84 U S Ug I S 899 41 3 44 T3 2§33 e

SHS 32 395" Had! faadt | foR fe3a3 € 3103 HEW & nimyE-winy & et 2gar w3 Y i

Sfgnr T 1 fog 23 A3-u3 3 § 3 Jo1-9% Za et I T | awr-diar, G-t anfto-ardte wrfg

et feadt de vat Fe s ygfes aaw 75 |
41, ‘ZHS HEC T WIESAJ :
(A) AW (B) wig
(C) W (D) I
42, ‘T HIREHIE T :
(A) igedtt (B) w9
(C) "e=e (D) %
43. ‘T Fee o iensdi fBar J
(A) T (B) wedt
(C) a8 (D) Tt

44,

‘BHS 99 FI& HEHt fe3a3 4 1" T o s FuRe 99
(A) Sfyas (B) 33
(C) FI3HEAB (D) THAG3 I®
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45. ‘IQ U dedzfore nrs o At migw T
(A) Heydddwdugssagstdaadti
(B) wez st S duzzsagsdAdaadt
(C) wesdtTuzss aea & Tt T |
(D) Wyt Fmuzssaga sS o

46. Ut o a8 A=I s
(A) W, (B) ¥,
(C) o, (D) fe, 6

47. ‘fAgfaeter yo=g o Adt vge 51 q
(A) e caE (B) Wf3dd &a&
(C) T difsnr g ¥ (D) iz @

48. et & yie fenivst < faredt T
(A) 3 (B) 2
() 4 (D) 3
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(A) TWEe-TIH (B) 3=2-TAH
(C) »IE-TaH (D) Guea
50, T T EITEFAIN,
adt e, w3 gy e |
3 o §33 uny Ham |
Suias w39t faa3 20 A Goas 75
(A) afgz (B) I
(C) w=ehr (D) &3

51. JOIIHTHEEI TR :

(A) @ (B) o

(C) a5 (D) g et < adf
52, QurwBae fE fozr I3 mHs Jevd

(A) wff3aEat

(B) FHs3H

(C) Sund, Quwms, T9d HaE W3 AT IS

(D) Sund 3 Qunrs feg w3
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(32) PL-2

(A) 12+14°3 (B) 14+16'3
(C) 13+14°3 (D) 13+11°3

&, 397 Ufow 58ar A nifhn iR ZAw |
FUI3 € AYd T BT & G o e 1

Suisz A9t far ga ft Geaes I

(A) »E393IH (B) H33H

(C) foraa IH (D) #lg 3w

FH wifprs e Yfafan fade @ niar s
(A) wifoimeg, fefomrget, B) wifmmea, fefonradt, 1l o

(C) Hy-nifprud, v, fefammadl (D) W, H3-fy3T, ¥H3

FH' < H'lJ3d 9379 § Aige w3 fftmradl S vz ue madl e wes o §3Hdns J
(A) HIEARB (B) vFEANS
(€) fouedns (D) ag=tmes

FH YIS 98 9 @ 69795 217 996 8E! fefomrea 639 J
(A) »HEg (B) dHE
(C) Y&-YH3x (D) IHSHIHZ'

iyt et wel fonfes us yrsa 3 fegre sieaddt feadmt unsal, gAms, waergt nirfa <ff
uFTet TS |

(A) HuH uFEr IR CEERCIRIE R

(C) wrfem <t ugret (D) AEBFE

st & Saft urs - ursa e viegat I I

(A) »ed (B) faze

(C) HUEE3IYdHS (D) et

T fenags ot fifio mi 7e 3 G v fedt T

(A) Ay 3 niy T fadft (B) »HG 3 feanis fadft
(C) w33 3 39d <3 fauft (D) I3W& feuft
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32.

33.

34.
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Heuis 3q dld e ¢
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(C) &bl (D) &3S brgl

AL 5 25 eI s A2l 7

(A) <l (B) U

(C) v (D) <4
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(A) Gl esR (B) 345 ACsR
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AL AL IELLLAL AL WA 5HIS 35 2l 364 Goir el :

R et HE Rl ¥ elREl vl S Al AL 3l A0 : 2eesell, cudrul ot UL
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et 2l 28 cll €35 WL MR dde B WsiR At 24 el 21 wisier ellel vl
gl HL AL BRI AL S 2 R 2 SR i 3R 8.

3s.

36.

Bzl dAeligleAl 2ALUR AR el ol [l ML A 8¢ 2]l 7

(A) Rel245ell (B) 4Rl
(C) 26w (D) aild

‘gt Al [R1 2106 vl

(A) sl (B) il-i&

(C) st (D) %1-1‘,0{41

https.//www.pygonline.com


https://www.pyqonline.com/

D

(34)
A2 2AE 5L 2R WA 545 37 Al 3941 Bdr el :
o3
2oL (5 o
244 Hrl
% glssls g,

37.
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41.
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85 el sl elin 522 ;
R 2l i 55812 ulAL

HIUHIR g ol R UL vl 521 o U
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St 5[l 2L 5L L AL HALE ¢

(A) 5l 5813 (B) sl AdeAslladl
(C)  s[EAl $2115 a0 (D) sl Réuct
ol oAl il 1og youdl

(A) L (B) 3w

(C) =i (D) -t
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(A) g (B) 2l

(©) WA (D) v

‘Al 2l el oLl 28l 6. [alnel sllendl

(A) RS (B)  UvAS
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Ay RL| HINHL AL 526 USR5 7

(A) 5 (B)

(C) =l (D) 2R

‘o A9 AU U QI OLHIREL SULEEA S

(A) [Roazel (B) H&lsll

(C) el (D) wslzel
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44§ s LRlaL AL S B0 S 9

(A)  @lrusin (B)  ddHiAsL0l

(C) ®dsin (D) Ule Hdsln
45, QRS AU AU SUL USRS 7

(A) GRIR di (B) WA

(C) (et sz (D) =stieldisd

e

46, “Aotd dell A" Al ARl séad 585 6 9

(A) AR H2LA 8l vil2L (B) {43l &Sl syeisl
(C) 2Adddlzal (D) HEd-l deer
_ EiE
47, *eRLBLESL A Bleel 3leadi-l vl avvuel. LT
(A) R UL [rgn o (B) el iz s34l
(C) Mg (D) &gl

48, Uy, Wt s 2Ro{-5RUL el 2t GPUBAHL ¥ YO s, 2l dell Uosld Ul AW
BTALHL AL S 9
(A) e 21061 (B) dgd 206l
(C) B0l (D) Rl 210€L

49,  AlaHial sdl 21og 2309 Ml Gldzl zuadl 2l ¢
(A) =ad (B) U4
(C) MR (D) dorz

50, ARMA g la-dl cusBisdl 58 6 ¢
(A) 2 gl (e w s dossil Gl .
(B) il ugld GaussiAl Qenelmil 12 awesdl 5.
(C) wilugld Rieis Wiz w20 8.
(D) @l ugld 25l duoy W 8.

51, sldLaudl sou s ¢
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2 G 530l 538 7
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@E&f ot I A F |
61. Tifgsh v Mg i vovet faftt o =9 o fofa 78 amdi 2 7
(A) A9 (B) e
(C) (D) T farem
62. T3 Svre faefia w7 2q Frefofia w2 a2 -
(A) STeriid G | (B) e wifge uaH |
(C) %aiE W SR | (D) aTet frew g3 |
63. fr=fcifad # @ v 38 Ye-79 $i fowwar 72 &
(A) favaafa (B) =
(C) FwEhisa (D) oHTEEIN®

64. TR AT TZE % STAR TN H Heaish h1Ed 31d § -
(A) B % SRR 1 e gr fod o aftad=i = favg 3 ymmon s v FE
(B) ToaTha TTuldE ¥ | T Wil 1g R |
(C) o g areass wE faemeff 7 3o o1& wied 4 |
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65. dThiters wed, ferneff <t srferma woan aun e =i 2t w1 2 Wam 2 -
(A) STETIeHe f3reqor (B) femremes e
(C) fwramoes sau™ (D) et e

rferfiaa merer & SR R Yo7 E@A 66 § 75 T % I G ¢

“feex feemmerar =61 o s & 7 1 qd SR TR agg-wEefy 3 e T Y S gee @
Tl 337 fenrer ‘gl 1 aTIeue” R 9 @ Terd 991 7 7 Hiforew A UH & Fa A1 | 36
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i Weg A TEfehe 549 TA o IR T 93 @ -
(A) ® (B) WIS
(C) 3T (D) T
‘TeT I 1 ACHA T ¢ -
(A) wfera (B) =@
(C) <& (D) <T@t
oA~ I 1 e A 2 -
(A) *Tel-S (B) hTeH -
(C) = —TeT8 (D) 33— ¥
freferiig Wz 5% Yo & 9% ST §
(A) =i, 37 (B) fmanfers, difd
(C) =, TEH (D) wifeht, sfrnfieh
fraferfiga & & ot weg 7 fafea smeri 2
(A) "7 (B) &4
(C) = (D) &9
freafefaa d o fPg g F o afr 2 7
(A) &= (B)
(C) Fan (D) wEref
freferfiaa T Te qegey TaTE %1 3SR R
(A) ST (B) feurera
(C) W& (D) ¢
Segenl¥ 70 i 318 § Fefofied wieg vt safea €
(A) FR, 3R, HricTerd | (B) T, HINGUE, G- |
(C) wITgee, Jel, gl | (D) fif, yfafie, war |
TR AR VG I E -
(A) ot (B) i
(C) @ (D) I
V] AR 9 [ 58 ST H e TEiihd 16 8 -
(A) YTaaT=s a3 (B) Iy
(C) fersmor (D) TEI™
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TR ZA o1, o 7@ vewd %,

= e A a st w2 ||
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bt ATfeRT o1 7 R w2 11
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76.  ITYF HTITH Tl TgH T 77 H fram 391 B & - mm
(A) T Eed SR ST B e | o
(B) o Hid o Wfa 5w ft e |
(C) TR < wfer g wram |
(D) Sfd % Wi 9 197 |

77, Frefafed of § o sreeER &1 v fEn g
(A) g e ER @ s die | (B) Yo e, FH —FRaand @’ |
(C) Tafg STEd Tefs weei € | (D) = R gH d T2 FHeTd® i |

78, Fferiiga ufea ¥ veq qwg o W a1 S1fies W W 3F P FEd A
“ZR ZH o1, forei e vewrd %7

(A) 3fd B) T

(C) M (D) TUTEG
79.  Forehelt AT, A A A |

TEiferd gl # g HAFRE -

(A) EFF FAHR (B) ITHT IAFR

(C) T0H ITHN (D) eI FAFR
80. fd o HTHR T4 1 uiae @ &1 2 -

(A) TI-F9 IRTAR (B) A TR

(C) Has M (D) et T W
81, T I T U1 | TR T 1 2f @ SerEw @ -

(A) WTURY ST (B) oIF T

(C) farams (D) W vE fay I
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(40) PL-2

“ITg T ETSR 1 7Y B -

(A) T BT | (B) I8 TdT FTT |

(C) farwama wr g | (D) fermme s |
TIET J TS I Hael QU | 36 a6 § {@ifehd 3eg ¥ R T & -
(A) HEY FHH (B) &H HH

(C) ¥TIqH HH (D) IR HRF

T I TR TR e Y R -

(A) TEAEM | (B) T AT |

(C) el §TET | (D) HTEH STEAT |
it 8 9 a1 o AT Brarfs &1 @ d 7 Ly
(A) wfea agd oiR-oit et 2 | (B) o Bl wliem @ |

(C) BaFI Ao fRat (D) WiAmioH aRm w2 |
S Frerifes e R & 7

(A) T (B) AL

(C) i (D) T TR

I T fireh & o WifRgen e fre ot yeae fafy 1 g€ e R -
(A) WeIt ud fggM (B) 3TEE qwTHv

(C) e yeeH (D) EEHfTE SRR
yfaer 5 fernfela =1 fore STePR % SERTAH B R 7

(A) BRI B) |

(C) ferelt oft ST | (D) H&H FHLH |
TST JEdehTerd I Iideh a1 91fau :

(A) i THER (B) @afcaes

(C) ©ie mrers (D) & ol yER H
feafeTRad W & 339 W1YH 1 3T I 3

(A) = (B) T fowams

(C) e (D) &M
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(41)

SECTION - 111
LANGUAGE - 11

OF 0
LY ENGLISH

61.

62.

63.

64.

66.

67.

There are 30 questions in all n this Section.
All questions are compulsory.

Evaluation is done on two basics
(A) cumulative (B) terminal
(C) sessional (D) formative and summative

The comprehensive evaluation involves

(A) assessment of answer books.

(B) performance in co-curricular activities.

(C) assessment of health habits, work habits, cleanliness and co-operation.
(D) All of the above

‘Class magazines’ is an example of
(A) assignment (B) project work
(C) writing test (D) speech test

One of the objectives of the remedial work is to

(A) highlight weak students.

(B) identify the cases who are lack in studies.

(C) spot the weak and punish them.

(D) make the weak students aware of their backwardness.

Remedial teacher should keep a liasoning with the parents to
(A) ensure the weakness of their child.

(B) help in identifying the cause behind child’s lagging.
(C) work in same environment.

(D) rebuke the students.

(Prose passage Q. Nos. 66-70)

Almost the whole village stopped to watch the big boat being built at sometime or the other.
No one owned such a large boat or even worked on one. Perhaps they were jealous and that
was why no one had a good word for it. They did not want to believe, it would do well at
sea. But, they, in a way, were proud too. Building a big boat like this in their village was an
achievement.

Do you like to eat a pizza 7 Do you prefer a hamburger 7 The two questions can be combined
using

(A) and (B) or

(C) but (D) that

I am sure. It is true. The two sentences can be combined using
(A) so (B) than

(C) but (D) that
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68.

69.

70.

71.

72.

73.

74.

76.

77.

78.

done this.

Many a man
(A) 13
(©)

was

Gold and silver precious metals,
(A) 1s
(C) have

........ no one had a word for it’
stands for

(A) the boat

(C) sea

(Poem Passage Q. Nos. 71-75)
‘Weavers weaving at break of day,
Why do you weave a garment so gay ?
Blue as the wings of a halcyon wild,

We weave the robes of a new-born child.

(42)

(B) has
(D) were
(B) has
(D) are

The underlined word in the line from the passage

(B) the people
(D) achievement

[E10E
Ac]

£

‘Blue as the wings of a halcyon wild.” The figure of speech used in the extract 13

(A) alliteration (B) smmile

(C) metaphor (D) assonance

The rhyme scheme in the stanza is

(A) aabb (B) bbaa

(C) abab (D) abba

The plot of a story may be

(A) comic (B) tragic

(C) satiric (D) all

Dravid was the wall of our cricket team.

(A) Simle (B) Metaphor

(C) Personification (D) Rhyme

Inanimate objects and abstract notions are spoken of as having life and intelligence in
(A) metaphor (B) simile

(C) personification (D) plot

You be ashamed of yourself having made such a comment.
(A) may (B) should

(C) can (D) could

He chased the thief as far as he

(A) may (B) should

(C) can (D) could

The car seemed to have

(A) beat the bush (B) tried to pin

(C) wvanished into thin air (D) boarded the wrong train
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86.
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88.

89.

90.

(43)
‘Drama’ originated in
(A) Greece (B) Rome
(C) ltaly (D) England
An ‘octave’ 1s a stanza with lines.
(A) 6 (B) 14
)y 12 (D) 8
The twenty-six letters of alphabet have sound symbols.
(A) 20 (B) 24
(C) 44 (D) 45
The phonetic symbol of the underlined letter in the word “thin” is
(A) 0 (B) ©
€y 3 (D) &
. - . . OF0)

The phonetic transcription of ‘lung’ 13 ’E‘ ¢
(A) /lag/ (B) /long/
(C)y /long/ (D) /lem/
The word having the sound of ‘€2’ is
(A) pear (B) hire
(C) moor (D) roar
‘h’isa sound.
(A) voiceless (B) wvoiced
(C) palatal (D) wvelar
‘Expression should be impressive’ is an imperative of
(A) Accuracy and correctness (B) Naturalness
(C) Measurement (D) Evaluation
‘Freedom on part of the speaker 1s essential” ......... is a rationale of
(A) Direct method (B) Structural approach
(C) Communicative approach (D) Substitution approach

is an advantage of communicative approach.
(A) Listening (B) Speech ability
(C) Writing (D) Reading habits
Language has
(A) script (B) gesture
(C) feeling (D) sound

If a Bengali family lives in Delhi, the children in the family will learn
trom environment.

(A) Bengali, English (B) Bengali, Hindi
(C) Hindi, English (D) Hindi, Sanskrit

in family and

https.//www.pygonline.com


https://www.pyqonline.com/

61.

62.

63.

04.

65.

(44) PL-2
W©US - 111
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R
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(A) TSITETaty: (B) wegwfefy:
(C) HUEHEHIate: (D) TAYEHiAfY:
TeaTg 3 <higeft wiskan wifed ¢
(A) @dd (B) ferm
(C) HTEG (D) wfdagr
“FigTae e 9 fram: 3 oy
(A) Freromem (B) Tramfagr:
(C) fomorfafer: (D) Frerorptsrery
sefafiady yerergd wife -
(A) e (B) gleI
(C) @=f-wfrEa=y (D) wfeepfa:
TR Sfel e 9IT: 7
(A) T[T (B) funemorfas:
(C) Toragorgzmoy (D) LT

SFANTARGAT, ST STTATTHIERIEE WeAT: (66-70) TATLAT: -

mm@ a1 | taey 99 YHaHTaR fegar: | 9 3T g WA 3TE
@ S AR g AR | AR, AeeeRae:, IsaHeHEee:,
TERICT TS : SoTed: Hel<d: UPWal: FaK: W‘{fﬁmﬁa@imﬁaﬁm eI, W
TEAI Fad-a: | sgunt wa fife: S s = wfa sremeh wee |

60.

RARTAN 33l &1 fawfa: 7
(A) e
(C) T

(B) WEl
(D) gefran
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(45)
“Shdded:” §IA h: YA ¢
(A) ¥ig (B) 9
(C) 3 (D) e
AN T Herves: S 7
(A) (B) =9
(©) A (D)
YFT: §009 %: GATE: 7
(A) g HHH: (B) %‘IFI'H'I’H:
(C) TCIRIEATH: (D) FFFTEEaH:

Seit wa s areme v g tifha-ue o sy 2
(A) HEHHY, (B) STIEHHTER
(C) frTTsHiey (D) T

freferfigd oammer amerfishes S : (71-75) wHIEAT: —
TJUITH T fogT dar=ra wenfi wafwy |
g aueE s afe e - wo- afed Tt 1|

“guraTA S goad : FTem: 7

(A) TETHHSI: (B) JHETHHIE:
(C) FurTey: (D) ScaTe:
YT — 98 Afered wehifer 3o fergreme fopy 7

(A) ¥ (B) ety
(C) w&=Hq (D) =hIfEd
g 3w foh forgy anfe 2

(A) Ffestsm (B) ffergy
(C) TIEHTFH (D) Swafagn
fogm 303 &: Ted: 7

(A) T (B) =Y
(C) o (D) aq
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e srifeafied w8 f o= 3 7
(A) 3gd (B) 3ymf:
(C) e (D) e
Brerd (30) g wrseea wmiftn R o v ¢
(A) fifers (B) feers
(C) Tahicts (D) Iwafers
HTERagEATT ] e wal 7
(A) I (B) 3romfg
(C) e (D) warfe
AR FARRIH e 7
(A) et (B) T3
(C) 919 (D) &
o U hid e fagraengaam | 7
(A) faafa: (B) 3ABTEH
(C) grem (D) 9w
Y ue: fird: arRifig geed -
(A) ¥R ge: dfea: (B) ¥R Ge: U
(©) WHE:&I:I: (D) m%:ﬁqﬂ:

¢F: TEd: el A e g9 -
(A) <d: TR0 37eid | (B) <d: UarH: T |
(C) : TaFEH 37y | (D) 2 TEEE 37 |

“ehell 1 gEBTa™ SIS SHHaTe) TRad 1 -

(A) I HHE T (B) A HE 3=
(C) e & 3594 (D) & %1 g
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(C) fregeh: farsdiv wigpeafa | (D) Rigreh: farsarq dgpeafd |
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(A) TSR o frmf | (B) i forgerameta 3 fawmf= |
(C) i fwemneia = fomfe | (D) &fiwr: Fermedy = frmf |
_ yfcrepents Rt T wETERA | e i | ?%
(A) SHATEAT HATHTTY (B) 3rmeA c
(C) 3T (D) HTA:
gEHUafafy: ureafaeR m fey ¢
(A) SIS (B) aR-faanafafy
(C) FmmHAfafy: (D) Frmfaty

(A) &1 (B) SErERUE
(C) I== (D) TEH
sruiifetfadfating wemmafafrfe -

(A) wrEETTafy: (B) Fratufafy:

(C) TTHATCHE-3TH: (D) frfaa-sremam

“geEe: Terdiiad: e 3fa wet faud v 7

(A) STEIH{ER (B) T3TeATe

(C) ST (D) EEHTHS — YT
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(A) oM (B) it

(C) gt (D) e
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61, g ¥uged  forars wf aref g -
(A) e (B) femmft
(C) wmIah (D) Tl
62. WMISTEAE FORE IR -
(A) 3@ (B) =t
(C) focreft (D) %
63. a1 @ e #1g 120 @ 129 G forrmpa o gr s w1 - -
(A) FaTIR (B) Wi oy
(C) A (D) EH=
64. ey Afeq ATeHIS A9 JAMMEH -
(A) fegm B) 79 T fam
(€) 49 (D) @
65. UV L AT TegTsy i geUd FARGA AW 5 ferarsha o foepr fum ot |
(A) W (B) feam
(C) = (D) 9o

3ol 2R et Tt <1 A T - (66 @ 70)

R T 11 fepeiien gkt o femg o1t wftrg e 2 qo 3rme | o & aret et St
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“W3 i @I I T, 7 {3 997 wigage I e § 17 - Qazg aus fan feees @7 3

(A) 3. Jadtes fiy (B) {.yda frw

(C) 7393w (D) 3. 733 fifw
fai wirean fouree o, fagas OF 2gam At nigaas g wa e T :
(A) yIitsd (B) "sfay3

(C) 3z it (D) wiafenft

UTS-UNSd & HUTEs 3 Ydms © YFlgs a6 J

(A) US-YASR T AU Set nifpmyg I after g

(B) US-UN3d =" ydHa Agardt fifim Hrgr ot S vt 9 |
(C) US-YASA T HeI 1 IS ISTIHI IR |

(D) UB-YH3E €7 HS fimmar 3o |

Hiendt feft s Hefag I ¢
(A) Tt At wifewm (B) JHbT
(C) 3Ba" <t fafan (D) »IT T UEMTIHG eSS
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S — 111
L - I
dovRicl

L ASHL 5EL 30 WAL 8.
ER8 UHAL el Ml 53 (vl 5.

61. Al Grayuzl uluH selalle cls- el suL el A 2Adl el ¢

(A) -l (B) 24z
(C) <l (D) owwllAl

62, A2 sl 5 [ w6 9
(A)  sleRigts sletizl v dag-alla Sldl o=, @%ﬂi
(B) oL (Rt (G- (s sti- €lg 31 6.
(C)  cArL [R5 HeAllstio i 3R] 2L,
(D) dHR1Es FRiuaEl sl o .

63, HIMMIAL RS odlgl eEoll el

(i) Wy (i) otiull 244 Hgul
(ii) [Adueire (iv) @l
(A) (iii) (B) (i) @i (i)
(C) (ii1) 244 (iv) (D) (iv)
64. (21245 tacllst g 121 (el yeuis 56 wglaell s3lws 6 ¢
(A) [F=leel (B) Asleze
(C) SHHWMES (D) GuRlst oixll
65.  AlalAHiall 2igyg AsURAAL AL
(A) Bl 1L SRl (B) @Ml US5201 U LR,
(C) At w2l 61 54, (D) wtdlou g ell 1AL s,

A2 B dABUAUAL AR WH AL 66 2L 681 Aedled 240l :

AL 52 L SRl v BsEl Ealslt G{lHA o7 B ol WL eleiAl Hil =l 20 dull
wedld §ld. (e ol 25, ool Fevgsdl, ¢llwn o] 2 el dedsti 24
Ao (A HE ¥ BRI R oAl Y 8. DAl AR RS [AAL URRAM YAl HelYRMAL HidL
elzl5 2040 200 2ALAlA 51,

e e

66.  tlsicl G{lvHAl Hicl dZl5 20400 511 Al 1A ¢
(A) U (B) bl
(C) s (D) Ul
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68.

(62) PL-2
25, [yl wa] 2 dralsiied el Sl il 2Rl W2 $HAL LB = ol 25l
& 7
(A)  [cusie ¢l (B) oAl 5%
(C) =Y (D) gulu-

HSTYIN UCEHL 5L UHA & 0
(A) &g AU (B) dleud
(C) dcyRM (D) SHuRY

ALRL AL MEILLULAL AR WAL 69 2] 70 ¥ ellol ML :

69.

70.

1.

72.

2<pll 335 gell-l wesul glsd wim
- .. . . 2%
6 Yus -2 A §HgHAL [datsH glszl. E%

2o R0 52 DA o AL URRIM B,
SlR & 51 ARl MssHL glsRL.

ACS EEE T ENTECE AR O
(A) &l BeEsHl (B) Rl »aswl
(C) sl sesul (D) 20421l BesHl

R Los [t arsudl.

(A) el (B) =llcbd
(C) fusldal (D) sle (et 2l

SLEPUBL Ul AR, 22U, o[l 24 CULAAL AHA 3 Sl 7
(A) sl (B) Hd-IH
(C) [agvel (D) (ulRe

“Geltel il AL st A2l sl uuhasel 546 ¢
(A) Gedl (B) ®ilul
(C) sl (D) el

“SlRLAL 50151 HHIA AIRL AL AESRAL USER Ul

(A) 34 (B) Guul
(C) Gcllail (D) <uldzs

https.//www.pygonline.com


https://www.pyqonline.com/

PL-2 (63)

74, ML OL AL, UOBL MSelled 51 5L UE 1 Sdelly ¢
(A) [Bgiwel (B) =
(C) Al (D) UdrH

75. <Al sl @ Eus s oAl
(A) §us e, (B)  HEIRIY 490Ul §eiR ELEMLIYEL IR

(C)  allEld HeREYA ML 4L, (D) otHl = il 551 el

76, HIREL-SHL MULAL AL LR LR 526G UOEHSO SIS 7

(A) 5000 21061 (B) 3000 206l

(C) 2000 €L (D) 1000 A€l

_ e s 5
77, o dlsd 215 Gad il 15 (s ot S el 59 ALt 58U 7 &

(A) UG (B) iy At

(C) Mg (D) Ry

78, “§ LS Bl SRSl ARl s usR-AL S 7

(A) Mzs (B) ks 35
(C) s5d& (D) sHlL

79, cpelll (el (5301) AL [l Ucud 2ol
(A) Al A, -t (B) ¥, =l
(C) A, M (D) @l i

80. “ge il usl W sl AHALTL 2Acd 2A00AL
(A) 54 (B) sl
(C) usl (D)

81, gLl B3l 1R — s 58 [ &5 7
(A) (gl (B) il
(C) MM (D) szl

82, wxseizll MO 23U 2ellsIRIRG AR SUL AL SEA E ¢

(A) dcuH (B) dgedl
(C) & (D) uRuUidA
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83.

84.

86.

87.

88.

89.

90.

(64) PL-2
‘Slze 2008 56 MMl Rl S 7
(A) sR¥l (B) i)
(C) ol (D) gl

[Eanellei AsiHs 2400 [Esuaal Hi2 58 2abs ugld g Gudipll ol 2 6 ¢
(A) e wgld B) uuul ugld
(©) AR gl (D) <l wgd

ARkl 53 st urelld Gersza 2l ¢

(A) WEArds (B) oeslal

(C) etz (D) sy ol
5

sl RS, UMY, Aldlsu- el AsaeuRs Ugfail sul Blaedd sued] uglil
& 9

(A) HdeLslaed (B) su- slueu

(C) i Slaiey (D) @i slaey

Heuis sl ulsu s ¢
(A) A0 uBULS. (B) sl ulu .
(C) Sqaallubus. (D) i fraseled wsu s,

(Fottticns Wl HulgL g3 53 HI2 Sl UsRAL WALAL 32AL S3UHL A 5 9

(A) 2514 (B)  @irllcHetal uall
(C)  @ileterRicHs wsl (D) ds(Es usll

AR 5 520121 [R1gis 2R s12] 2l ¢
(A) i Hells (B) s HElsA
(C) w=lau szl (D) oifg salel

Al @ A (G (oeirl 2ARIRRARL el

(A) 5551 A GARIERL St (B) ¢l 2 uRkzee-l 2l
(C) sl oL 24 e (D) GuRlsd ol
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SECTION-IV /@€Ug - 1V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either 1V(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

70 @ug 1 g ITEvE 37T [V(a) nivra qen fasm vd 1V(b) amnfes seram € | 2H1 STavel &
T 1 60 FEfeheda T £ |

iiereff 1 1V (a) 70T aen fomm 12en 1V (b) Amaes stsam, fen! 999 ST sirded - |
fopan 3, A fereft weh 3mave 1 91 2 Ue Tl 60 T 1 3T 2 |

i
SECTION-1V(a) / @UE - IV(a) G

MATHEMATICS AND SCIENCE / Tifora e fagm

There are 60 questions in all in this section, The candidates who have selected this subject
must answer all the questions.

30 @ue ot 60 59 € | o sraf¥at 3 5a forwg = v @ o wft s e arfRerd

91. Main objective of Geometry teaching is :
(A) To teach the use and measurement of mathematical tools.
(B) To develop creative imagination in student.
(C) To develop the power of object transmission in the student.
(D) All of these
T Rveor 1w e R
(A) TIOTCa SRt % YT W WA T 3 ST |
(B) BT H TEHATHS el STith o1 {8 T |
(C) BT I Y9I Wi 1 ol 21 |
(D) 3ot

92. “Child 1s able to Recall definition of Rectangle.” This statement shows which learning
objective ?

(A) Understanding (B) Analysis

(C) Knowledge (D) Evaluation

“YTeTeh A hl TILTTHT ST TeIRo] L TR |” I8 9F S o I 3279 i Jefifa
A2 7

(A) FEEY (B) famerm

(€) T (D) TR
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93.

9%4.

95.

96.

(66) PL-2

A child is able to construct a triangle on the basis of given measurement. Which main
objective fulfill through this activity ?

(A) Receiving (B) Responding

(C) Valuing (D) Skill

T ST [GU T AT & TR T U F[a i T4 2 07l 2 | a1eish shi 39 iafafey grn fea
o7 3e9F I gfd gt € 7

(A) UgW (B) HcgxX
(C) Heod (D) v

Children with strong intellect do not have qualities
(A) They are more curious.
(B) Their area of interest are broader.

(C) They are emotionally unstable. Or0)
. ' ' . . . i 3
(D) The knowledge of reasoning is visible from young age. E%i

TR [ aTe! FTeThi H 98 70T TE aid & —

(A) ¥ il AFg ard £ |

(B) i %1 %1 &3 S0 B 2 |

(C) 3 wTefeh Hamedeh 2f¥ ¥ SR 2 & |

(D) 3769 & € deh wIfed 1 9 Zfe M= g 2 |

If 308 = 272 D) then the value of x is :

(A) 0 (B) 1
(C) 2 (D) 3
A 309 = 2700 DR, R F AR

(A) 0 (B) 1
(C) 2 (D) 3

1.2 AP
Ifx +y=7and x* +y” =25, then the value of (T + ;} IS :

12 7
(A) = (B) 33
7 1
© 13 D) 7o

| 11
e v+ y=7 32+ 2 =25 é,a‘r[;+;]$rm%:

12 7
(A) = (B) 53
7 1
© 13 D) 15
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97. A factor of the expression x* — 2x + 1 is :

(A) x-1 (B) x+1
(C) x+2 (D) x-2
G 1 — 2x + | ] T UGS ¢ -

(A) x-—1 (B) x+1
(C) x+2 (D) x-2

4
-

98. The solution of the equation -4 260 IS
(A) 0 By 1
(€) 3 (D) 2
T o+ = O I EA R -
Iw_4 2 VRIETR: ?ﬁ
®
(A) 0 (B) 1
(C) 3 (D) 2
38 100 3
99, — . — x'{fIZSisc ual to :
J16 V49 1
;
(A) 7 (B) 3
. 4 |
© 3 D) 7
d oo . ;
2 . 125 wOe e
Jie V49
.
(A) 7 (B) 3
. 4 l
© 7 D) 3

3
100. The simple interest on a sum of money for 5 years becomes 3 of the principal, then the

rate of simple interest will be :
(A) 10% (B) 8%
©) 12% (D) 14%

%@wﬁﬂsaﬁaﬂmwmwmw% 711 2, A IR0 AT Y R -

(A) 10% (B) 8%
(C) 12% (D) 14%
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101.

102,

103.

104.

(68) PL-2
If the loss caused by selling an article for ¥ 560 is ¥ 50 more than the profit made by
selling it for X 720, then the cost price of the article is :
(A) 665 (B) Rol5
(C) %600 (D) %620
afe foref) awq 1 7 560 1 5= @ g€ @1, T 720 9 o197 9 gU AW ¥ T 50 Y 1, @ awg
FATA L -
(A) %665 (B) %615
(€) 600 (D) %620

If the cost of 5 bananas and 4 apples is equal to the cost of 3 bananas and 7 apples, then
the ratio of the prices of a banana and an apple will be :

(A) 1:4 (B) 3:2 EE
(C) 4:3 D) 3:5 iy
af¢ 5 et qUT 4 UST 1 Yoo 3 el AT 7 Ua1 % Yoo o GG &1, al T shet a4 T 9
el 1 FAE &I

(A) 1:4 By 3:2

(C) 4:3 (D) 3:5

If 75 is added to 75% of a number, the same number is obtained, then that number is :

(A) 300 (B) 270
(C) 250 (D) 225
afe Toret T@T % 75% U 75 TS 98] HE&dT WA 2 A0, 91 9 T2
(A) 300 (B) 270
(C) 250 (D) 225

The present population of a village is 1,30,910. If in the previous years there is an increase
of 6%, a decrease of 5%, an increase of 4% respectively, then the population of 3 years
ago was

(A) 1,30,000 (B) 1,10,000

(C) 1,25,000 (D) 1,15,000

T T 1 GAEH SFAEE 1,30,910 3 | Afe ma 7w § wmwwr: 6% 6 afg, 5% Hwi, 4% 6
3fg g8 &1, @ 3 99 & i SEE ot

(A) 1,30,000 (B) 1,10,000

(C) 1,25,000 (D) 115,000

https.//www.pygonline.com


https://www.pyqonline.com/

PL-2 (69)

105. In the given figure, the lines XY and MN intersect at point O. If ZPOY = 90° and
a:b=2:3, then the value of Zc will be :

ip
M
d
b
— ( —
C
w58
N LT
(A) 90° (B) 126°
(C) 144° (D) 150°

fe@ w1 o W d@nd XY q91 MN foig O T wferede et 8 | 3 ZPOY =90° 3R a:b=2:3
&, @ /¢ 1AM 2T -

F
1P
M
d
b
X ( Y
¢
N
(A) 90° (B) 126°
(C) 144° (D) 150°

106. If all the three sides of one triangle are equal to the corresponding three sides of another

triangle, then the two triangles are :

(A) Perpendicular (B) Congruent

(C) Parallel (D) None of these

afe weh firgsr <6 it e, @ e o drer T sqait & st g, gl B e E
(A) oTE (B) wafmom

(C) FH® (D) T § FI5 TE
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107.

108.

109.

110.

111.

(70) PL-2
The length of a chord at a distance of 6 cm from the center of a circle of radius 10 cm is :
(A) 12Zcm (B) l4cm
(€C) 18c¢m (D) 16cm
0¥ P s ga & F3 8 o i gl mfRm far i der 2 -
(A) 125 (B) 14 T
(€) 18wt (D) 163

If the perimeter of an equilateral triangle is 48 cm, then its arca will be :

(A) 64\/5 cm? (B) 55\6&113 @ﬁg

(O) 32\)601113 (D) None of these o
3fe, foref) T Fasgs 1 oftm 48 T 31, ) Ioe athet 20T -

(A) 6443 @t @t (B) 5542 =t wnft

(€) 3243w (D) T & FE

If the lengths of the diagonals of a rhombus are 10 cm and 24 ¢m, then its perimeter will
be:

(A) 34cm (B) 68cm
(C) 52cm (D) 56cm
7f¢ Tk THE S o feremvil 1 SaTEaT 10 T 3 24 S B, 71 3w T g -
(A) 34 (B) 68 Tl
(C) s2att (D) 569

A room is 12 metres long, 9 metres wide and 8 metres high. What is the longest rod that
can be placed in it ?

(A) 29 metre (B) 17 metre

(C) 15 metre (D) 21 metre ‘

U FHAU 12 e w9 e T g & M Far 2 | 39w 99 A 9 e et me v o
Tl g ?

(A) 29HIA (B) 17X

(C) 15HIR (D) 21Hi&

The main objective of tabulation is :

(A) Presenting the data on the basis of their characteristics.
(B) Presenting the data in a systematic manner.

(C) Presenting complex facts in simple form.,

(D) All of these

(A) THHI I ! fASTaIaT o SR T TG F |

(B) T &l Heg Haed €1 H T FT |

(C) ifec a2 ! 9% ¥4 § TEqd HET |

(D) Fwft

https.//www.pygonline.com


https://www.pyqonline.com/

PL-2

112.

113.

114.

116.

(71

The mode value of a series is ;

(A) Intermediate value (B) Most frequency value
(C) Minimum frequency value (D) Marginal value

fepelt Sioft b1 SR e AT :

(A) Tl God (B) Tafee IR=RaT Iod
(C) a9 IRERAl Iod (D) Hh= g5

The coordinates of a point on the X-axis are :

(A) (2,3) (B) (0,2)

© 2.0 D (L

X-31& W e fareg o fadene & -

(A) (2,3) (BY (0,2)

(C) (2,0) (D) (1,1)

The probability of having 53 Tuesdays in an ordinary year 1s :

1 2
(A) 3 (B) 3
3 4
(© 3 D) 7
Teh TTERT 99 | 53 WTeTan 214 1 IIaaha1 2 :
1 2
(A) 3 (B) 3
3 4
€ 3 D) 3

. Which of the following is a teaching aid of Mathematics ?

(A) Napier strips (B) Logarithmic table
(C) Geometry box (D) All of these

o 1 & ifore fneror <6 wErers et 2

(A) AR izt (B) STmTh Wt
(C) anfuf st (D) I &

Which of the following Mathematical statement is true ?
(A) Evaluation = Measurement + Judgement
(B) Evaluation = Measurement — Judgement
(C) Evaluation = Judgement — Measurement
(D) Evaluation = Measurement + Judgement

fmids i s e 7
(A) eI = AT + fofa (B) Hediehd = urwH — faua
(C) e = fofa — e (D) Teaiehd =TT -+ fof
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117.

118.

119,

120.

(72)

Which of the following is not an Indian Mathematician ?

(A) Ramanujan (B) Brahmagupta
(C) Aryabhatta (D) Pythagoras
e 3 @ = st g =T E

(A) THTLH (B) SI&rd

(C) Iwg (D) UTIYTTRE

Which of the following is not the type of cognitive objective in Mathematics teaching ?

(A) Knowledge (B) Understand

(C) Skills (D) Application {PEI
freferiiga 1 @ = |1 71 gy § SgHTeEs 3298 1 T ISR AR 2 7 Eﬁi
(A) TH (B) ey

(C) iy (D) 3T

Which of the following is not a method of Evaluation of teaching Mathematics ?
(A) Supervision

(B) Interview

(C) Teaching model created by student

(D) Dictation

o 3 @ i o fareqor 3 oarrea < fafy 787 2 2

(A) frlem (B) WIETHR

(C) B grIsn Femaied (D) gfae@

Mathematical statement whose truth has been proved is called :

(A) Theorem (B) Axiom
(C) Conjecture (D) Postulates
vt e foroeh e fag s 8 R, Faamar 2 -
(A) Wi (B) Afmyfea
(C) Fedaer (D) i
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121.

122.

123.

124.

(73)
Example of sexually transmitted discase is -
(A) TB. (B) Cancer
(C) Gonorrhoea (D) Pneumonia
I FETE T T IETE0 8 —
(A) @t (B) +8
(C) Tt (D) =gt
The example of Kharif crop is —
(A) Gram (B) Pea
(C) Maize (D) Linseed
@l &1 HEe F ITE 2 —
(A) =1 (B) A
(C) wFHI (D) 3rerEh E;E
54
Which of the following is the oldest teaching method ?
(A) Reminiscences method (B) Evaluation method
(C) Projective method (D)  Anecdote method
fFreferfaa 1§ 3w o gad yreia feo fafu 2 2
(A) wgf faft (B) WA fafyr
(C) wamv fafy (D) HaF! fafy

Meaning of comprehensive evaluation in continuous and comprehensive evaluation —
(A) Evaluation of educational field

(B) Evaluation of co-educational field

(C) Evaluation of educational and co-educational field

(D) Evaluation of all subjects

HAd TG ST Jolioh B ST Yo &1 aed 2 —

(A) f¥e & =1 gt

(B) TE-Siarh &= &l g

(C) e 1a we -t &7 =1 qeie

(D) @it ferwari =1 qe—rTeRA

. Which teaching aids are not included in the visual equipment ?

(A) Projector (B) Film strip

(C) Poster (D) Gramophone
w1 =t R -wgrae aml §99-3usRtr § wieie 78 2 ¢
(A) NER (B) frem firw

(C) TR (D) UHEH
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127.

128.

129.

(74) PL-2

A force F is acting on arca A. If the force is double and the area is halved, the resultant
pressure will be of the nitial pressure :

(A) half (B) double

(C) one-fourth (D) four times

T 0 F et & A Wam @1 2 | 3fE 99 1 g YT &8 W s a6, afond g
TRIEF 219 &1 20

(A) 3 (B) I
(C) TH-HE (D) =V

A wooden spoon is dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of convection.
(B) becomes cold by the process of radiation.

(C) becomes cold by the process of conduction. oFld
(D) does not become cold. E!%

el Sl U THI I STTGHHIT o Te] H AT a1 & | §61 580 a0
(A) Haa Ufshar o SR 3T & O |

(B) fafercor wfeman 3 swor 32 &1 smom |

(C) e Tl % SR 381 &1 AT |

(D) @s1d1 & |

Image tormed by a plane mirror is :

(A) wvirtual, behind the mirror and enlarged.

(B) virtual, behind the mirror and of the same size as the object.
(C) real, at the surface of the mirror and enlarged.

(D) real, behind the mirror and of the same size as the object.

Hudel g4 g 4T T vfafas A R

(A) AT, v & e e et

(B) et adw & g qur fie & s & s
(C) arEferes, o % ysg A smafia

(D) arefaes, I = i g e o argst & FUe

The limit of audibility for healthy human is :

(A) 10 Hz to 20000 Hz (B) 10 Hz to 2000 Hz
(C) 20 Hz to 20000 Hz (D) 20 Hz to 200000 Hz
Y TS h {oTu Seadl i1 Bl 2 -

(A) 10 Hz ¥ 20000 Hz (B) 10 Hz ¥ 2000 Hz
(C) 20 Hz ¥ 20000 Hz (D) 20 Hz ¥ 200000 Hz
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130.

133.

(75)
Full name of LED is :

(A) Light Emitting Doll (B) Light Emitting Dynamo
(C) Light Emitting Drum (D) Light Emitting Diode
LED T 931 779 211 2 :

(A) ToHTY Icah 2 (B) THTYN I8 ST
(C) TohTsl 3cEieh g0 (D) WY 3 TAE

. Electric-cell converts

(A) mechanical energy into electric energy.

(B) electric energy into mechanical energy.

(C) chemical energy into electric energy.

(D) electric energy into sound energy.

ferege—eret witafda sear 2

(A) Fif St wifrmaats  (B) forga i & it o °
(C) T e # faga Ft 8 (D) foga e it wfa Fai o

. Order of planets according to distance from the Sun is :

(A) Mercury, Venus, Mars, Earth
(B) Venus, Mercury, Earth, Mars
(C) Mercury, Venus, Earth, Mars
(D) Mercury, Earth, Venus, Mars

4 8 o IR IE FTHTR
(A) Y, H, AT, I (B) Ik, §4, T, W
(C) =4, b, 3ol AT (D) 99, 7%, I, W

Which of the following is not a criteria of a good test ?

(A) Reliability (B) Valdity

(C) Objectivity (D) Subjectivity
freferfga o 9 17 91 ush 319 i &1 aveE TE 8 7
(A) fovaetaar (B) dern

(C) agfmaar (D) ST
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134, The process used in the separation of rice from paddy stalks is —
(A) Hand picking (B) Threshing
(O Wilmow@ng . (D) _Sicving
T 1 g Sfeal & Tae o quaER T W 2 -
(A) a4 (B)
(C) frman (D) =TeH
135. One of the steps used in the process of formation of common salt from sea-water is —
(A) Distillation (B) Condensation
(C) Vaporisation (D‘) Filtration
TR St W AR T S o Wehd I Y T TS R -
(A) A (B) HgH
(C) oM (D) e

136.

137.

138.

139.

140.

The chemical substance present in calamine solution that 1s applied on the skin to
neutralise the effect of ant bite is -

(A) Calcium carbonate (B) Zinc carbonate

(C) Sodium carbonate (D) Sodium hydroxide

121 & FTe % IHTE Fi ITHF FH + foI0, w== | S 19 are herea e 1 3ufen
arEE Terd 8 -

(A) Hfcoy FHEie (B) i #aHe

(C) difeaw wreie (D) Hifeay ggEse

The oxide responsible for acid-rain is —

(A) H,0 (B) CO

(C) 80, (D) CO,

I -t & foru St sAfamEe 2 - i
(A) H,0 (By CO fﬂ%
(C) SO, (D) CO,

The pair of thermosetting plastic 1s —

(A) Polythene, PVC (B) Polythene, Melamine

(C) Bakelite, PVC (D) Bakelite, Melamine

opTafen wfes F1 w8 -

(A) UTferefia, frefteh (B) iffrefi, HremgA

(C) sehage, diefie (D) Sherge, NI

The fuel with highest calorific value in kJ/kg unit is —

(A) CNG (B) LPG

(C) Petrol (D) Hydrogen
k/kg 378 H watftrs sefty am arer S 2 -

(A) HieAsht (B) werdtsil

(C) g (D) R

The type of teaching aid involved in experiment done by a student in laboratory is —

(A) Audio aid (B) Visual aid

(C) Audio-visual aid (D) Activity aid

weh feraneff g sameen o v ford wm o fafea frem wem 1 R 2 -
(A) I3 |19 (B) zw@HIUA

(C) ¥ea-geg AT N RERIREEILE]
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141.

142.

143.

144.

(77

In which group the unicellular, Eukaryotic organisms are included ?

(A) Monera (B) Protista
(C) Fungi (D) Plantae
forg wgg 7 U IR, ghiwEees Sta afrfoa R sma 8 2
(A) HHT (B) difewr
(C) w=T (D) Wi

After fertilization, a mature and developed ovary is known as —
(A) Seed (B) Endosperm

(C) Fruit (D) Embryo

= % uvar, v faesfia o aftaea aveTer 1 #ad & -

(A) (B) wwgerd

(C) e (D) ¥

Which one is not necessary for photosynthesis ?

(A) Sunlight (B) Carbon dioxide
(C) Chlorophyll (D) Oxygen
TeRTITEYCTTV 3 foTT o STTaryar T2 2 2

(A) g1 9Hm (B) e SEHTFEE
(C) FEARIfhE (D) e

During respiration in plants the breakdown of glucose to Pyruvic acid is called -

(A) Kreb’s cycle (B) Calvin cycle

(C) Glycolysis (D) Fermentation

dted} & vere o SN TSt Sl TR vt # farere R § -
(A) eH = (B) foad =%

(C) TRHEAGH (D) fervem

5. Who first described Golgi apparatus ?

(A) Robert Hooke (B) Robert Brown
(C) Camilio Golgi (D) Lecuwenhock
g Tiiestt 3ushv &1 e aftfa ferar 2

(A) T EH (B) T S
(C) et et (D) T
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146.

147.

148.

149,

(78)
Which bacterium causes “Whooping Cough’ disease in human ?
(A) Bordetella pertussis (B) Corynebacterium diphtheriae
(C) Mycobacterium leprae (D) Neisseria gonorrhoeae
i & e & are #§ el @ a7
(A) TREReT TEim (B) @i-ewiiam fewdiam
(C) HrEghidaifEm ol (D) At ffars
Which type of sweat glands are present in human skin ?
(A) Apocrine (B) Holocrine
(C) Ecerine (D) All of these

e e o e TR S 8 YR B B E 7
(A) TR (B) I
(C) WHIE (D) 3@t

Disease caused by deficiency of Vitamin-D (Calciferol) is :

(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
faerfim -t (SFfeafsier) €1 i @ g1 aren T 2
(A) Tl (B) -3
() wd (D) fehem

In which animal asexual reproduction occurs by budding ?

(A) Amoceba (B) Hydra
(C) Plasmodium (D) Leishmania
B & TR e T TSI o A R 7

(A) e (B) &g

(C) wr=aifsam (D) efrerfa

. Which hormone controls maturation of egg in ovary ?

(A) FSH (B) TSH
(C) ADH (D) GH
S 1 EWE g § afem] % i # fEfa Fa g ¢
(A) FSH (B) TSH
(C) ADH (D) GH
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SECTION-1V(b) / @UE — IV(b)

SOCIAL STUDIES / TR HAETEH

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

38 @UE 1 oA 60 T 2 | T it 3 ga fawa o1 v fFen 2 3wty e e 2 |

91.  Which of the following is a correct statement with reference to latitude and longitude
respectively ?
(A) 87° North to 197° East (B) 56° North to 91° South
(C) 101° East to 192° West (D) 23° North to 66° East
FeferRad 4 & sher: 3789 9 oA o gy o ) sfiefed @

(A) 87° WA 197° 1 (B) 56° I & 91° gl
(C) 101°7d & 192° ufvem (D) 23°ITH 66° &
oy

92. Equinox is related to - Eﬁi

(A) 21 March (B) 29 February

(C) 22 December (D) 21 June

forga dfRm @ -

(A) 21T @ (B) 29%@(H

(C) 22 fegmma (D) 2153¥
93.  Which range is located in the north-west direction of the Peninsular Plateau ?

(A) Vindhyachal (B) Satpura

(C) Aravalli (D) Eastern Ghats

F Ft e IREE TeR F Fer-afvan fom § a2 o

(A) Taeme (B) ®aqsl

(C) Imrgef (D) i =mr

94,  Which of the following is related to endogenic forces ?
(A) Wind, Glaciers, Volcano
(B) Volcano, Landslides, Earthquake
(C) Earthquake, Landslides, River
(D) Glaciers, Sea-waves, River

fraferfiga d @ =9 |1 adfad 9 4 g 2 2
(A) e, fewme, saramE (B) SSTCTHE!, EEeH, Jh
(C) M, HEer, a1 (D) Teoe, agg-awr, 4
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97.

98.

99.

(80) PL-2

In 1947, he was then Director General of the Archacological Survey of India.
(A) Alexander Cunningham (B) R.C. Banerjee

(C) R.E.M. Wheeler (D) Sir Jhon Marshal
1947 T YA dcd TA&0T < qeble SRE-Td &
(A) IeRRIgl BHER (B) IR, wlf
(C) FRZ.U7. e’ (D) TS AT

Which Satavahana ruler claimed to be both, a unique Brahmana (cka bamhana) and a
destroyer of the pride of Kshatriyas ?

(A) Satakarni - | (B) Shiv Skanda Satakarni

(C) Simuka (D) Gautamiputra Sri — Satakarni

fora ATaaTed W T WA SR STV (U 9TE9T) Ud TR o g i g i arel
AT 7

(A) WasRvii-guw (B) Tvra whg wraeofi

() g (D) i #—saii

At which place in Gujarat were the teachings of Lord Mahavira and his followers
presently avarllablc were written down about 1500 years ago ? mam

(A) Valabhi (B) Lothal ?E%i

(C) Rangpur (D) Bharuch

AR ®9 H ITAH WA TR T I SR ht fra s 1500 ad qd e #
foper Ty W forgt 7 off 7

(A) doerdt (B) Ua

(C) TR (D) &

Which *Tripitaka’ tells us that there were separate branches for men and women in
*Sangha’ ?

(A) Abhidhamma Pitaka (B) Sutta Pitaka

(C) Vinaya Pitaka (D) None of these

o o et 3T Rt o e oY aro- arer syaen oft, 48 & frw iftes & ver wer 2 7
(A) firem fes (B) H faes

(C) o firess (D) ¥ § %1 7

Which rivers contributed significantly to Magadha’s transportation, water supplies and
making the land fertile ?

(A) Godavari - Tungabhadra  (B) Ganga - Son

(C) Chambal — Mahi (D) Krishna — Kaveri

=t Afet 3 w1y < Ararnd, Jo o vg S @1 39S $9H § Hgwqy geeE e ¢
(A) T — g (B) T —dH

(C) =t — Wi (D) &S —
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100.

101.

102.

103.

lﬂ4o

(81)

Most of the Ashoka’s inscriptions have been found in -

(A) Praknt Language and Brahmi Script

(B) Pali Language and Devnagan Script

(C) Sanskrit Language and Brahmi Script

(D) Punjabi Language and Gurumukhi Script

39N & iy sfice @ T g -

(A) Wrhd Wt R R fafy (B)  wifer s ok SEATR) fef
(C) Fwpa v SRRl faft (D) oot s 3R TeEh fafu

Which land was granted to Brahmanas and was usually exempted from paying land
revenue and other dues to King ?

(A) Agrabhag (B) Agrahara

(C) Agradaan (D) Bhumi-dan

& I |1 -9 4TS SRV 1 g o Siam o ayt 3 it 3 317 YR % HL T §RI
T& e 9 ¥ 7

(A) FTHM (B) IURH g&mi

(C) 3meH (D) Y3 o

In which language was the “Prayaga — Prashasti” composed by Harishena, the court poet
of Samudragupta ?

(A) Prakrit (B) Hindi
(C) Pali (D) Sanskrit

AT - YT shT Ta1 BT o Torehidl gHavl 4 ferd W § <61 off 7
(A) WHd B) &=

(C) et (D) ¥R

The Shunga dynasty was founded by which General of the Mauryas ?
(A) Pushyamitra Shunga (B) Agnimitra Shunga

(C) Vasumitra Shunga (D) Devbhuti Shunga

577 991 <61 2o o R S gR o6l T ot ¢

(A) i g (B) ifific g

(C) sy (D) Z@yfd 3

Choose the Kanishka’s court poet who composed a biography of the Buddha, the
‘Buddhacharita’.

(A) Saundranand (B) Ashvaghosha

(C) Shudrak (D) Harshvardhan

T o TeTebid T (8- g %1 SfadT, ggana’ w1 @1 =i off |
(A) H=TH= (B) 3reE

) I (D) e
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108.

109.

110.

(82) PL-2
. Which was an administrative subdivision of a Mughal province ?
(A) Peshkash (B) Jaagir
(C) Milk_iyat (D) Pargana
T el 3 Tk TTaf THSe i | 97 7
(A) IR (B) mfR
(€) fafesa (D) I
Which is a Major poetic anthology of Alvar Saints also known as Tamil Ved ?
(A) Tondaradippodi (B) Karaikkal Ammaiyar
(C) Talvl:am _ (D) Nalayira Di\-'yz_lprabundham
ST Hl 1 U U&F I Tohed (ol Al 3¢ & ¥ 7 +ff SI1 e 2
(A) Treufsuis (B) THEFhE AR
(C) T (D) FAIETTEET
The Mother of Mughal ruler Jahangir belong to which Rajput dynasty ?
(A) Kachhwaha (B) Rathore
(C) Parmar (D) Chouhan
T I1TEeh SR el ATaT fohe Trsiqd o & s off 7
(A) HoZam (B) 3T ore
aelles
(C) TR (D) =EH o

“A cherry that will drop into our mouth one day.” In 1851 the Governor — General Lord
Dalhousie said this statement about which state ?
(A) Satara (B) Awadh
(C) Jhansi (D) Nagpur
“3 el U e g € g # AR T |0 1851 H e SRt oS Sergret 4 98 FY e

fEEa s IR Fwar e ¢

(A) ¥ama (B)y Jay

(C) st (D) AT

Which day was earmarked for “Direct Action Day™ ?
(A) 14 August 1948 (B) 16 August 1947
(C) 14 August 1946 (D) 16 August 1946
‘geael FHATE] fogm’ g e @ g fwifa fepan mam o 2
(A) 14 371&, 1948 (B) 16 37, 1947
(C) 14 37&, 1946 (D) 16 3ATHE, 1946

By which Constitutional Amendment the Age of adult suffrage in India was reduced from
21 years to 18 years ?

(A) 39 (B) 61
(C) 63 (D) 71
foper T TomyE % 30 YR # e waTfusr Y 1 21 98 § geret 18 9 1 R 7
(A) 39 (B) 61
(C) 63 (D) 71
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111.

112.

113.

114.

116.

(83)
Which feature is not in the “Preamble” of the Constitution of India ?
(A) Secularism (B) Federal Government
(C) Political Justice (D) Equality of Status
WA o Gl i s § B @ fasvd @ 2 v
(A) uY-Frer (B) W wEH
(C) TsHifq® =T (D) Sfq8T ! guHal
Who was the Deputy Chairman of the Constituent Assembly in India ?
(A) Dr. Rajendra Prasad (B) K.M. Munshi
(C) A.N.Sinha (D) H.C. Mukharji
WA Y e b v & sy eH 9 ¢
(A) 3. ez TR (B) %.TH. HA
(C) T famr (D) wa. . g&sf
“Right to Property” is presently mentioned in which Article of the Constitution of India ?
(A) 224 (A) (B) 290 (A)
(C) 300(A) . (D) 312 (A) _
“gfer o1 SAfFR” dEH  9Hd F afaye & e gt aftfa g 2 mym
(A) 224 (h) (B) 290 (k) @%ﬁ
(C) 300 () (D) 312 (%)

Which Constitutional Amendment was made to provide opportunities for education to the
children of 6 to 14 year of age ?

(A) 74® (B) 81t
(C) 86" (D) 91t
6§ 14 T4 I o STeTehi i IS % STFOL ITCTEY FHUA 2 Hi T Frag F9ne o m 2
(A) 74af (B) 8l
(C) s6af (D) 914

. Who are included in the electoral college of the Vice-President of India ?

(A) Nominated members of Parliament

(B) Elected members of State Legislative Assemblies

(C) Both (A)and (B)

(D) Nominated members of'Statp Legislative Assemblies

R & ITTPI(d o fAar=re et o HH M 8 7

(A) ©HE % T HeE (B) T faamranat & Faffm vea
(C) (A)3M (B) 3l (D) T3 faumenat & T gee

Which Article of the Constitution of India described the Power of the President to
*consult” the Supreme Court of India ?

(A) 143 (B) 147
(C) 140 (D) 145
YA % Feic e H WY 1 gt < i wma o fee & e s dafifa g ¢
(A) 143 (B) 147
(C) 140 (D) 145
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117. In which Part of Constitution of India described the Urban Local government ?

(A) 8 (B) 9(A)
(C) 11 (D) 10(A)
G & Gfa4 < forg 9 3 92t syt smem sl @ 7
(A) 8 (B) 9 (%)
(C) 11 (D) 10 (%)

118. What is the minimum number of Women Members in the National Commission for
Protection of Child Right ?

(A) 2 (By 3
(€) 4 (D) 5
T STt AR FTvT ST § = fhat afgen gew g safar 2 2
(A) 2 (B) 3
(€) 4 (D) 5
119. According to Article 74 of the Constitution of India on whose advice does the President act ?
(A) Council of Minister (B) Vice-President
(C) Speaker of Loksabha (D) Governor
e o TGUH % I 74  qaq Tgdta frueh) veig 3 w1 @ 2 2
(A) o it (B) Swrgfa S
(C) TehTT e (D) T=IITA ’Eﬁj

120. Which of the following is a group of inner planets ?
(A) Mercury, Venus, Earth, Jupiter
(B) Venus, Earth, Mercury, Mars
(C) Earth, Mars, Venus, Jupiter
(D) Earth, Mars, Jupiter, Saturn

freferfiaa # @ 1 a1 a7 78 1 = wR R 7

(A) T4, Wk, g, geerfa (B) b, 9o, a4y, W
(C) vedt, W, yh, gEEd (D) gea, W, ggead, vl

121. Values of Social Science teaching are —

(A) Social Value (B) Democratic Value
(C) Artistic and Recreational Value (D)  All of the above
g fasr e & g & -

(A) TR Ted (B) SHATt® ged

(C) FeTeHsh 3R TARSHTHS qodl (D) IR Toft
122. Summative Assessment is appropriate for the following :

(A) Deciding upon the grade

(B) Summarising student learning

(C) End of the term assessment

(D) Monitoring the progress of teaching — learning process

HehelTehsh Yoo 1 & fofu srqoed 2 -

(A) =it () Pfvaa s d

(B) faenefi it =1 g1 Agm dam w0 |

(C) AT Hearshd H

(D) Fegor—arfermy wfsran <t worfe w fmet &
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123. Which of the following subject is not included in social science at the upper primary level ?

(A) History (B) Civics
(C) Geography (D) Psychology
= 1 8 =i o e s= sy e fogm & aftiferd 72 2 ¢
(A) e (B) AmTieea
(C) ST (D) TATITH
124. Which one of the following is the correct example of * Application objective’ of teaching ?
(A) Define (B) Classify
(©) _E:‘.tablish (D) Recall
fore 5 0 fneror 3 s SR’ 1 wEl IeE 2 -
(A) TSI G (B) (a0 T
(C) &rIfird (D) TR AT
125. Main components of Information Technology are —
(A) Software (B) Hardware
(C) User ‘ (D) All of the above
I T Toh] o & ITH 3 —
(A) Wi (B) BEH
(C) IwINTeRdl (D) ITjEd ot gﬁ?

126. Which permanent wind blows between 30° South to 60° South latitudes ?
(A) South — East trade winds (B) Polar Easterlies
(C) Westerlies winds (D) North-East trade winds

F19 oit worft ved 30° 2famh seisi @ 60° gfrft reriert % wey varfed @R E 7
(A) dem-geiemiE T (B) e g v

(C) T TE (D) IT-TET AT Ta
127. Where do willy-willies cyclones originate ?
(A) Waest Australia (B) Pacific Ocean
(C) Atlantic Ocean (D) Indian Ocean
forehl-faefis wrpana #ai S g 8 7
(A) feerft stefer (B) ¥ HETHPT
(C) FeANEH TERTR (D) e merarR
128. Which of the following oceanic currents are located in the South Atlantic Ocean ?
(1) Brazilian Current (2) Benguela Current
(3) Oyashio Current (4) Gulf Stream Current
(A) 2,4 (B) 1,2
(C) 3.4 o (D) L.2,4 _ . .
frferfiga wemmrte uroe 3§ @ = o gwd gfaoft sreetfes meramm d fea @ ¢
(1) ssfifora gm (2) SuEn gm
(3) ITrTEn 9T (4) Te% T 4T
(A) 2.4 By 1,2
€y 3.4 (D) 1,2,4
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130.

132.

(86) PL-2
Dehradun, Kotlidun and Patlidun are located at
(A) Between Himadri and Himachal
(B) Between Himachal and Shiwaliks

(C) South of Shiwaliks
(D) North of Himadri

&ENIg, Whizeligd U8 eefigd feud & -
(A) femrdt s Rwrae & nen (B) Temraet 3 franfors & o
(C) fmanfars wefapfamiw (D) faodl & 3ad ymi

In August, at which latitude does the Subtropical Easterly Jet Stream blow in India ?

(A) &° North (B) 15° North
(C) 27° North (D) 37° North
3T W78 A WA | Surwrssfeadiy gai S Wi uru fRe st w varfea gt 2 2
(A) 83 (B) 15°3W

o)
(C) 27°3W (D) 37°3W Loy

. The correct order of the physical regions of Rajasthan located from North to South is

(A) Vindhyan range — Luni Basin — Shekhawati Region — Mahi Plains
(B) Luni Basin — Vindhyan range — Shekhawati Region — Mahi Plains
(C) Shekawati Region — Vindhyan range — Luni Basin = Mahi Plains

(D) Plains of Ghaghar — Bhorat Plateau — Shekhawati Region — Luni Basin

T % e wouT o1 3 el foun § srafeufs 1 ad w2 -
(A) Fiem ot - Tt af - Srared wew — ol %1 A

(B) ot aftm — feieam 3oft - Srwmedt wew — HrEh 6 Hem

(C) TEEd uey — faw dvft — Tt 9 — wd 1 feH

(D) R T HeH — W HT T3 — NG T — T afed

Which of the following is an example of Arabian Sea drainage system ?
(A) Menal, Kothari, Berach (B) Joyri, Berach, Menal

(C) Kothari, Som, Ruparel (D) Jojri, Bandi, Jawai

fefafiea | 9 3@ 9Py 3vaE 7 %1 3EEw 8

(A) TS, ISR, 929 (B) =gl sgd, T

(C) I, dM, TIRA (D) el 9, FaT$
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133. Match the following :
Name of Sanctuary

(87)

Wild animal

(1) Desert National Park  (a) Panther

(2) Todgarh Raoli
(3) Sita Mata
(4) Mount Abu

(b) Bear
(¢) Great Indian Bustard
(d) Flying Squirrel

1M 2 6 @
(A) ¢ a d b
(B) a c b d
() d a C b
(D) b d a C
ghfer AT -

IRV AW T "
() wfEweEm (a) dgam
(2) <reme Tae (b) f®
(3) Htar arar (c) TEMEA
(4) S I (d) I fireredt

Mm @ @ @

(A) ¢ a d b
By a ¢ b d
¢y d a c b
(D) b d a C

134. Match the following :

Mineral
(1) Lead Zinc

https://www.pygonline.com
Use

(a) Electric Wire

(2) Copper
(3) Gypsum
(4) Wollastomite (d) Battery Acid

(b) Fertilizers
(¢) Ceramic

1 @ ¢ @
(A) b ¢ d a
(B) ¢ d a b
(C) a b c d
(D) d a b ¢
e T

(eI ECE

(1) f¥e sre (a) fagaan
(2) dfan (b) 3eth
(3) form (c) fofires
(4) afereMTse (d) deifi st

(A) b ¢
(B) ¢ d a
(C) a b
(D) d a

1 2 @ @
‘ d a

b
c d
b c
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137.

138.

139.
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. The headquarters of North-Western Railway Division is located at

(A) Jaipur (B) Ajmer

(C) Kota (D) Jodhpur

TR-UFTEH {erd WUSH 1 T e 2 -

(A) SR (B) IS

(C) #I (D) U

When did Rana Sanga died ?

(A) 30 January, 1528 (B) 30 July, 1527

(C) 28 August, 1529 (D) 29 November, 1530

T S Y G % S 7

(A) 30, 1528 (B) 309, 1527

(C) 28 3T, 1529 (D) 299w, 1530

Who was the founder of Vishnoi sect ? Bim
. . .. bl 5

(A) Pipaji (B) Achalnathji @E&i

(C) Jambhoji (D) Ramanandji

{I9TS TeE & Wads HH Y 7

(A) Tt (B) FEeISl

(C) A (D) T

Who was the editor of the newspaper “Pratap” which gave wide publicity to the Bijoliya
Peasant Movement ?
(A) Ganesh Shankar Vidhyarthi (B) Rama Kishan Verma

(C) Manikyalal Verma (D) Ramlal Ojha

feshiforan foram 3T=Gier 1 ST TR S 9Tl TETER-UF “TATT o HUTe i & 7
(A) TToreT wrehe fepameff (B) T fene ami

(C) wfireRreTTeT SHt (D) THaAT 3T

When was the Matsya Sangh established in the first phase of Rajasthan integration ?
(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 (D) 28.03.1949

UL — TR o YUYW T[T Ao e ol TJTH] d 85 7

(A) 30.03.1948 (B) 18.03.1948

(C) T11.11.1950 (D) 28.03.1949
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140. Where was the “Rajasthan Seva Sangh” established in 1919 with the contribution of Vijay
Singh Pathik, Ramnarayan Choudhary and Haribhai Kinkar ?

(A) Bhinmal (B) Raipur
(©) /-‘L,Ewar (D) Wardha
1919 T Tt B g9 1 T fowatig afies, TmEmEm el i afend R $
INTE 9 el &8 7
(A) i (B) TIR
(C) 3R (D) aui
141. During the reign of which ruler Pichola lake was built ?
(A) Bappa Rawal (B) Maharana Lakha
(C) Rana Sanga (D) _Rao Chunda
firten gftet 1 Fmivr feper wmmareh o et H g3 2
(A) S (B) HZTV <IRET
(C) T (D) Ta el
142. “Jaisingh Karika™ written by Sawai Jai Singh related to which subject ?
(A) Astrology (B) Economics
(C) Politics (D) Military administration ‘
g Fatg g fefaa stz s ames 1y fe v g gefiya 7 ¢ %ﬁ?
(A) Iy (B) IR
(C) Tt (D) H=F-T3MEH

143. “Pichwai Painting’ related to which school of painting ?
(A) Kishangarh School of painting
(B) Bikaner school of painting
(C) Alwar school of painting
(D) Nathdwara school of painting

fraag fearena fovd Temepen It @ wefua 2 72

(A) Tpymmg femehet Seft (B) sftehT fermrehen Wef)

(C) TR ferehet dieft (D) TUgRT feehen Seft
144. ‘Rangadi’ and “Nimadi’ are subdialects of which Rajasthani dialect ?

(A) Malawi (B) Wagdi

(C) Hadauti (D) Shekhawati

TEr IR el forg ToreT aelt i Iusifort § ¢

(A) Herd) (B) arTel

(C) et (D) @
145. Who was also known as “Meera of Wagad’ ?

(A) Meera Bai (B) Gavan Bai

(C) Koyal Bai (D) Kali Bai

S aTE 6 I & T ot S St e ¢

(A) Hryar (B) Taf &

(C) I a8 (D) HTeft T8
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146.

147.

148.

149.

lsﬂt

(90) PL-2

Which one of the following is not the aim of Social Science ?

(A) Intellectual and Mental development

(B) Utilization of leisure time

(C) Helpful in bringing social changes

(D) Teaching etiquettes

e o & 5 o oo fagm A TR

(A) g 9 aefye fawm (B) STEHIY % U ] UGTANT HL]
(C) BT TiacH o § w@re a1 (D) fneqw frerm

The importance of teaching-learning material in Social Science 1s :

(A) Save time and energy (B) Clarity of the subject matter
(C) Both (A) and (B) are wrong (D) Both (A) and (B) are correct
grTores fomim # fveor-srferm annft 1 9g 2 -

(A) W 3 afem i g9 (B) fowa axg ) wqma

(C) (A) 3Tt (B) aHi TTerd € | (D) (A) 3By T € |

*Social Science refers to those branches of the study that deal with humans in their social
relations.” This definition was given by —

(A) Columbia Encyclopedia )

(B) Britannica Encyclopedia F’ﬁ

(C) Encyclopedia of Social Sciences o

(D) Report of, The Commission on Social Studies, USA

“grartoes fase & ared sreags 6t 37 @At | 2 S 9 0 %) 3 Gk qeel &
we ¥ wwg § wErd 4 2 |7 g TR A 2 —

(A) IS TATTSFA ST

(B) fsrefaen wramgaeimifean

(C) TAHTEFATIEAT AT THreret ATeat

(D) T 3Terd ST, 3. ud. v, it ford

Use of [nformation Technology in Education started first in which country ?

(A) Britain (B) USA

(C) France (D) Germany
I a1 o e 4 ged vl Ivan forw g o femar man ¢
(A) foe (B) FTET,
(C) wid (D) ST
Which criteria is not correct for a good evaluation ?

(A) Validity (B) Rehability
(C) Objectivity ' (D) Subjectivity
Teh To0 T o (70 i 1 AITEE Tl &1 8 7

(A) dua (B) favagfaa
(C) aEgisa (D) SaRFIERal
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INSTRUCTIONS / féw
(Read carefully and comply / &= & 72 3R qrem #X)
IMPORTANT / weeaqef

[

[

. In Section 11 (Language-l) a candidate has to attempt the questions of the language which the candidate has selected as Language-1in the
I Section HIGT anguage-11) a candidate has 1o akcmpt the |.|ug_-.l.iun-. of the language w hich the candidate has selected as Language-1i in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the preseribed place in the

. ]]n_ candidate has tn .m-\l.n:; m that subject in Scction (IV a) Mathematics and Science or (1V b) Social Studies as selected by the candidate

Online Applicatipn
b e I R

n. I . PR - - - =
AT W F B e A 2w oamn moSaw et 3 owm [ F B9 8 A aaea-ma § e 2

=11 will be different from Language-L
o1 safererme s Fa AT A o A A - 1 A e A -1 i fEm R - s - Enh o

Online Application Form, The Langu
AU UL AT 1) B FH S e e

OMR Answer Sheet, Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not

ggue}llo oklet N mber
ﬁ@;é“ Mg e oftren g s @ e g, S A
ﬂmﬂﬁégﬁmﬁ %mwﬁnﬁnrﬁm%' OMR H1Z 1 ST

in the Online Applicaton Form.

If a candidate answers the questions of EhL language or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it wo |I h.l .m,.j}.u wrong, o

e = 3| WE-TE F avE n'a} a1 (v by amtrE s § 3 fwg & we @ e aen 2, e fam s et
A AHATIA AT FURLE RET T o v - . o
iz werdi aTaE m-ww:mﬁﬂmmﬁmfﬁwmzﬂmqmdmhwiﬁummmm%maﬁ werdi 1w F fEEm
B AT Teld /AT AT |

(]

1),

Read complete instructions carefully and fill the details from SL No. | to 7 in the OMR Answer Sheet and 51 No. 1 to 4 in the Question
Booklet. If yvou fail to fill the details and sign as instructed coreectly, vou will be persanally responsible for the consequences arising during
scanning of your {}\IHAJ]‘-\L&I Sheet.

5 o B @ e Z AR w137 7% OMR ufie v FA 1 8 0 7% we-ham (FEee) @ oa | 3tz smoaem i & faa
ﬂﬂm*ﬂmi‘mﬂfﬂRJﬁEﬁlﬁFﬁﬂ?W?ﬁwmiﬁﬁﬁ Eieies ples e |

The l)m,»‘uc:n Baooklet l,nm]msgs\‘]'ﬁ Pages hay ||]g_ 150 quc'.tican\_ After hcing instructed 1o open the Booklet, only then the candidates will apen
the Question Booklet scals. Check whether the Booklet contains 150 questions starting from Page No. 3 1o 90 The Shift Number required in
OME Sheet will be as per admit card |\-uul o the candidate and also mentiongd un 1hg top of llu Question Booklet.
wsA-iETF] 7 96 98 T 150 Wi § | G .er‘fﬂ‘mTWPWH &1 #@ g | a8 _vF'IT"-'-‘J-;T‘?IﬁT-FFI'HHU
wid & A T yw w3 8 Wi we ';0 % 8 | OMR stz v furge wva -mm F A FEE T AT s i wen & vg A
Werl -Qfea o S AT 0 A A R v 2 |

All questions are of MCQ (Multiple Chaoice Question) type. There is only one correct answer to each question carrying one mark. There
will be no pegative marking for wrong answers,

kb WERFE | e e o e A & |y ne i el il o w8 e wae F B o s e g i
All questions other than language questions of Sections 11 and I1I shall be bilingual.
WHFE-9= % ATHT wWoE [ TA 11 & Wt & wfafea o ad gvat & v fyamdm g7 )

Inany event of any mustake in any question's, condidates will not be penalized. However ne corrgctions will be made in question’s durng the examination.
vy 1 Tt s = ford a1 Tedt wepme = et =128 =2m ) e = i1 3 AT 8 T WeRT o AT A AT A |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off from the
ugstion Booklet, No additiopal paper shall be provided.
1 WoFTE O TF T4 2 WA -1 A 8 e A W 2 | 7 e g @ A wr, | Famft s afafo wm saeer e |

Use of Log tables, Caleulator, Slide rule, Maobile phone, Pager, Digital diary, Bluctooth, Microphone or any other electronic itemiinstrument
ete. 1s not allowed. Their use will result in disqualjfics nlon . L. . i
P P, FeFgeed, T T, AEES T, g, I, ey, WEEEE M fEh g vER @ il 39 4 a w owEm atie
?l?ﬂtﬁ—mq—ﬁ.nq:ﬂmtrrfﬁhmmm?l )
OMR Answer Sh a8 will be prov ti-s.cl along with Question Booklet separately,
OMR T2 9 - & |14 WETA o AT |
The Chuestion [3m1k||.‘l will be I‘-‘-lILd to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
AnswerSheet. The Question Bookletscal shall beopened S minutesbefore the start of examinationand the candidate must Gl 1 tod entries correetly
on the Question Booklet, Afteropening the Question Booklet, ensure that any page/ question is not missing / not printed / tomn / repeated. In case,
vou find any defect !11'\.'\.\|1=_|L in the Quu.tltrn Booklet, immediately inform the 1n'.|~!|l vorand getnt IL|'I! wed within 5 minuics h\ the |n\1"l| WO,
Warning Bell will ring at 5 minutes before eloser of examination and the last long bell will ring at closer of examination.
sl 1 WA -YTEAE] T s B F 10 A 9d AT | A AEyEE ' A OMR iz § A qfafLem T AT WEE AW | WA
qfere i @ T e F <F:a-|-.'~:rq‘?§1‘r=r=1'm:rqm | 4'.ﬁwﬁ|1??a‘r TE T A |m‘r-qﬁ=ﬂnm?-rl:rqaﬁq'ﬁmmm
a4z qiiswa # 5 Zaw_feifs aam 9 8 'FI"‘;IFI?, AT A PE QW # WA Wel A1 A9 ¢ A e AR A2 T2 | Al g

1Erﬁr—r ?ﬂﬂfﬂﬁ?#ﬁ'mﬁqmmnr—r T W | SAE g

anﬁ?%fﬂ'ﬁqimmnﬁ'ﬁ aﬁqﬁhnmﬁwwm
Write your Name, Exq im Center Code, Signature, Roll No., Question Booklet Sernies Code, Shift Number and Question Paper Booklet Number
in the space provided in_the Question Booklet as well as in_the OMR Answer Sheet.
aa-qﬁ%ﬂ Trrl}n\m mztr?hﬂf? TIA W AR, W F F EIE, s, A, v -afeaw @i e, firee s o na giam
With h qucaliurl vou will find 4 |'iil'|hl.hll_' answers marked 15} the letiers A, B, O & 1D, Read each qucmitm C:ll'l_'rl]”}' and find out which
answer, according to you is correct. Indicate vour answer by darkening the appropriate circle completely in the OMR Answer Sheet comesponding
to the question. For m.Lerg_ ANSWERS USC b]llt black ballpoint pen only. Gel pens/peneils are_not allowed.
Wel: WA 3 TR g TULA, B(HI)'E]L"'_-T ?I";I'u"ﬂ'ﬂLWFH'H’?T_*RTHWF_HEF_'REHU\]Humqﬁﬁfﬂﬂﬁwqmzﬁm1
2R T 1 AT A O W | T A 290 2 ﬁwmmﬂ?aﬁmqqﬂﬂmm T | W% U ar e @ s
WRONG ( mrewr WROMNE ey WRONG S wyee

[ orTee! \.I-;‘.|'.t'|.| CORRECT /i W rong ‘\1(.'Ihll|| WRONG /e
T coCoe| ™M WOQO||log0o||lcono||ce0e

OM R Answer Sheet isdesigned for computer evaluation. Ifvou do not Follow the instructions given above and at the backside of the OMR Answer
Sheet, it may make cvaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
OM R e 1 Forezs GRT T & ford S v 2 136 s s v OM R iz 5 free: e w s fasi o arem i e, ot seges g sirve
AT A 21 AT |mmqqﬁﬂn°ﬁﬂmwwﬁhwaﬁcﬂ'ﬁmﬁ=m|

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy { Duplicate) so that the Oniginal Copy is not mutilated
inany way. Candidate should handover the Original OMR ('np\ and Question Booklet to the invigilator betore leaving the examination hall.
Candidate can carry only the Candidate \O\Il-lcup\ with him/her. Quullun Baoklet is not allowed to h-. taken by the candidate.

Frd wiaredi st o4 a9t & T4 W F =17 T8 o W | OMR $ite e dem w sl afm 2 s ardi J0F WERIE
e 2 ) el A @ serl £ whr (aafefn) @ ge ofy w1 i s 5 anfE fel o6 e a nﬂﬁaﬂirﬁ'ﬂhqq—ﬁwmm w
‘H?q?tmqm;_ggkﬁ wfd vd uyA-giea diaw w a g 1 aved e writ OMR $t wh g st wmr @ | Wy
s o | Ll |

€
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